UGC NET 2022 POLITICAL SCIENCE SH1

Topic:- 2_SH1_PARTA_S1

1) Who among the following identified two types of inequalitv: natural inequahtv and
conventional inegquality?
TR © 9 e SEEa T80T A U T EEEa F T F e e
[Question ID = 826][Question Description = 101_02_Political_Science_0CT22_Q01]
Thomas Hobbes
[Option ID = 3301]
2. John Locke
ElERaiED
[Option ID = 3302]

3. J.J, Rousseau

[Option ID = 3303]
4. Montesguien

qi-;_iqq

[Option ID = 3304]

2) WWhich of the following i= not an essential condition of demaocracy?
BRI I = e e A =i e o o e o e o 2l = e o
[Question ID = 827][Question Description = 102_02_Political_Science_0CT22_Q02]
1. Liberty
[Option ID = 3305]

HYHAT

[Option ID = 3306]
3. Independence of Judiciary

T #

[Option ID = 3307]
4. Committed Judiciary

r.ur‘ =

[Option ID = 3308]

3) Who among the following defined socialism as a chameleon, which changes its colour
according to the environment?



fefertias @ | o wTeame 1 TRz =9 9 sentan B 2 S T & SgEn S O g 2
[Question ID = 828][Question Description = 103_02_Political_Science_0CT22_Q03]
. €. E.M. Joad
o1.3.um, s
[Option ID = 3309]
2. Emile
gHig

[Option ID = 3310]
3. Ramsay Muir

[Option ID = 3311]
4. Hugham

"'.’:l

[Option ID = 3312]

4)  Which of the following book 1= not written by Michael Oakeshott?

=R § O A H T The A9z g Aa =l T A

[Question ID = 829][Question Description = 104_02_Political_Science_0CT22_Q04]

- Experience and its modes

[Option ID = 3313]
2. Rationmalism in Polities

[Option ID = 3314]
3. The Histary of England

[Option ID = 3315]
4. Introduetion to Leviathan

ég:l:q:‘.l:‘ _F: E.- EEI T

[Option ID = 3316]

5) Who wrote the paper entitled, “A Discourse on the Moral Effects of the Arts and Secience™?

Tr=titas 4 = T 3 TSERE A £ 90 SEeE AT © gl WS HiEE 0 A0 H e e
[Question ID = 830][Question Description = 105_02_Political_Science_0CT22_Q05]
1. Dante Alighiern
[Option ID = 3317]

2. St. Thomas Acquinas

[Option ID = 3318]



3. John Locke
EiE ey
[Option ID = 3319]
4. Jean Jacques Rousseau

[Option ID = 3320]
6) Who ameng the following authored 'Black Skin, White Mask?

[Question ID = 831][Question Description = 106_02_Political_Science_0CT22_Q06]
1. Hannah Arendt

Al WEL

[Option ID = 3321]
2. Frantz Fanon

[Option ID = 3322]
3. Mary Wollston Craft

[Option ID = 3323]
4. Marcus Graveg

[Option ID = 3324]

7) " In which of the following boolks of ‘Politics’ Aristotle justifies slavery
[Question ID = 832][Question Description = 107_02_Political_Science_0CT22_Q07]
1. Book-1

TF-1

[Option ID = 3325]
2. Bogk -4

qF—4

[Option ID = 3326]
3. Bock-6

TH6

[Option ID = 3327]
4. Book-T

SH—7

-

[Option ID = 3328]

8) When was the Hegal's book Philosophy of Right’ published?



[Question ID = 833][Question Description = 108_02_Political_Science_0CT22_Q08]
1. 1820

[Option ID = 3329]
2. 1821

[Option ID = 3330]
3. 18927

[Option ID = 3331]
4. 1837

[Option ID = 3332]
9) Kautilva's theory of Rajamandala belongs to:
FIiZea = TARSS [HgE AT | HEE

[Question ID = 834][Question Description = 109_02_Political_Science_0CT22_Q09]
1. Bocial structure

[Option ID = 3333]
The economy

4

R
[Option ID = 3334]
3. Foreign policy and infer-state relation
Tt Hite = s TEy

[Option ID = 3335]
4. Structure of Dharma

[Option ID = 3336]

10) When and who launched ‘Self — Rezpeet movement :
[Question ID = 835][Question Description = 110_02_Political_Science_0CT22_Q10]
1. 1940, M. K. Gandhi
1940, v5.F. 74l
[Option ID = 3337]
2. 1932. J. L. Nehru
1932. 9.7, 9%

[Option ID = 3338]
3. 1925, Pertyar

1925, gF=E

[Option ID = 3339]
41920, Tilak

1920, %

[Option ID = 3340]



11)  Who talked about ‘Synthetic Universalism'?

.--'- i?':;-ﬁﬂﬁfr:: -.—'ﬁ%?

[Question ID = 836][Question Description = 111_02_Political_Science_0CT22_Q11]
. M. N. Roy

R, 19

[Option ID = 3341]
Vinoba Bhave

2.

[Option ID = 3342]
3. M. K. Gandhi

[Option ID = 3343]
4. Rabindranath Tagore

[Option ID = 3344]

12) Dr. B.R. Ambedkar's paper ‘Small Holdings in India and their Remedies’ is related to

1. W AT, WESH B =g THA FICSE 5 31541 US 53 e HEfigd § garad 7

[Question ID = 837][Question Description = 112_02_Political_Science_0CT22_Q12]
1. Indian Agrarian system

& &=
HriaE FEESRSEL]

[Option ID = 3345]

2. Tndian Political system
AT AT Saaey]
[Option ID = 3346]
3.

Indian Education svstem

[} -
HEATH THET ==dE]

[Option ID = 3347]
Indian Culture only

[Option ID = 3348]

4.

13) Who describes process of Modérnisation as a Multi faceted process involving change in all
areas of human thought and activity'?

T W TREA SRR S S WA e AN it & wdi S 0 Sniee 7 e aimes s
aai’hrflr‘hd (W21 HZS ) UHAl & w9 A G100 a1 2

[Question ID = 838][Question Description = 113_02_Political_Science_0CT22_Q13]
1. Huntington

I’urE‘: IE l
[Option ID = 3349]

2. & M. Lipset



[Option ID = 3350]
3. Rustow and Wand

[Option ID = 3351]
4. Dawnid Easton

s 7=
[Option ID = 3352]

14) Who among the following looks at revolution as a 'Sweeping fundamental change in the
predominant myth of Social order'?

HefetET B R 1 AEE e F A 09§ e -gean] i iadd F =9 8 S5
27
L =

[Question ID = 839][Question Description = 114_02_Political_Science_0CT22_Q14]

1. Newmann

—HI

[Option ID = 3353]
2. 3. P. Huntington

7.1, Tl

[Option ID = 3354]
3. T.5 Euhn

Gl o

[Option ID = 3355]
4. (3.8.Pete

[Option ID = 3356]

15)  Which of the following is not true about Peter Drucker?

HizT 39 F A0 § AeAfanad 5 @ w65 A G680

[Question ID = 840][Question Description = 115_02_Political_Science_0CT22_Q15]
1. He authored the book titled “The Effective Executive”

®% § k] £ 7 s BR A
TEM G TRE2g TEA R IHF TS ot il

[Option ID = 3357]
2. He coined the term 'Knowledge workers'

A=y 3 # 4 =5 (3 &
S T FEEA (Aerd ) 7% A

[Option ID = 3358]
3. He comned the term "MBO'

‘TR T A A e

[Option ID = 3359]
4. He comed the term S. M. A. R. T.



[Option ID = 3360]

16) Who among the following coined the term 'ecology’ in 18667

el il .

TeTeEs & | e =0 1566 9 wiiiEtah 9 e e
[Question ID = 841][Question Description = 116_02_Political_Science_0CT22_Q16]
- Ernst Heackel

[Option ID = 3361]

7 Riggs
[Option ID = 3362]
3. R.A Dahl

HRE T, S&

[Option ID = 3363]
4. Houghton Miffin

[Option ID = 3364]

17 . ; . : .
) Project Mauzam 1= a policy linked with

Hion gt i AT § 8 e ge6s

[Question ID = 842][Question Description = 117_02_Political_Science_0CT22_Q17]

1. Envirenment protection
FETOT HTE]
[Option ID = 3365]

2. Climate change

[Option ID = 3366]
3. Indian Ocean region

[Option ID = 3367]
4 Bay of Bengal

[Option ID = 3368]
18) Peaceful Nuclear Explosion (PNE) was a policy of the Government under?
Ty it e (Tews) AR § 9 e Taed 5 9 ST A A

[Question ID = 843][Question Description = 118_02_Political_Science_0CT22_Q18]
1. A, B.Vajpayee



[Option ID = 3369]
2. Indira Gandhi

s me

[Option ID = 3370]
3. Narasimha Rao

[Option ID = 3371]
4. Narendra Modi
T T

[Option ID = 3372]

19) Para Diplomacy is/was part of India’s Foreign Policy under

W TeeAmET (91g FoAa) e § 3 e 99 8 aea i e A w2
[Question ID = 844][Question Description = 119_02_Political_Science_0CT22_Q19]
1. P. V. Narasimha Rao

[Option ID = 3373]
2. Rajiv Gandhi

TTHE ML
[Option ID = 3374]
3. Dr. Man Mohan Singh

[Option ID = 3375]
4. Narendra Modi

[Option ID = 3376]

20) UNO proclaimed International Yoza Day through the Resolutions 69/131 in the year
T T2 A9 TT A 69/131 F e H A 99 saewge Fm = o a9

[Question ID = 845][Question Description = 120_02_Political_Science_0CT22_Q20]
1. 2015

[Option ID = 3377]

2. 2014
[Option ID = 3378]
3- 2016

[Option ID = 3379]
4. 2017

[Option ID = 3380]

21) Who has coined the Word ‘Soft Powers'

.‘,.,‘ s ":F:F -1(_: _:qr__l-:'_r- S ke _E;'



[Question ID = 846][Question Description = 121_02_Political_Science_0CT22_Q21]
1. Hansz J, Morgenthau

[Option ID = 3381]
2. Joseph S. Nye

FHE TH, 4

[Option ID = 3382]
3. Robert Jervis

[Option ID = 3383]
4. Ann Tickner

™ feww
[Option ID = 3384]

22) ‘Open Door” Policy was associated with

A9 = Gited (@ g Aiia) Feitna 8 7 o wsatay an
[Question ID = 847][Question Description = 122_02_Political_Science_0CT22_Q22]
1. Mikhail Gorbachev
[Option ID = 3385]
2. Ho Chi Minh
71 = o=

[Option ID = 3386]
3. Schwarzes

¢

[Option ID = 3387]
4. Dene Xiaoping
R

[Option ID = 3388]

23) Arab Spring began in which country
ey fesm o6 o O wiwy 2am
[Question ID = 848][Question Description = 123_02_Political_Science_0CT22_Q23]
1. Libva
= e
[Option ID = 3389]
2. Syria
it
[Option ID = 3390]



[Option ID = 3391]
4. Tumsia

[Option ID = 3392]

24) The United Kingdom (UK) voted for Brexit in

T1z2s Tse | Fm =l #fFEz F 9g 5 geme
[Question ID = 849][Question Description = 124_02_Political_Science_0CT22_Q24]
1. 2017

[Option ID = 3393]
2. 2019

[Option ID = 3394]
3. 2016

[Option ID = 3395]
4. 2020

[Option ID = 3396]

25) The first Lokpal bill was introduced in Parliament.
TEE T TR T TRl A1 e T e e
[Question ID = 850][Question Description = 125_02_Political_Science_0CT22_Q25]

1. 1971

[Option ID = 3397]
2. 10967

[Option ID = 3398]
3. 1068

[Option ID = 3399]
4. 1969

[Option ID = 3400]

26) Who among the following was the Chairman of the Advisory Committee of the Constituent
Assembly?
HFIH B Fl HATRFR AT F 7999 FefaiEs 9 g 3= a7

[Question ID = 851][Question Description = 126_02_Political_Science_0CT22_Q26]
1. Rajendra Prasad

[Option ID = 3401]
2. Jawaharlal Nehru

[Option ID = 3402]
3. Vallabhbhai Patel

TS T2

[Option ID = 3403]
4. Maulana Abul Ealam Azad



[Option ID = 3404]
27) Article 169 of the constitution makes the provision for the abolition or creation of -
T T I 169 FEET F S S99 T9e F ST 10 F 5
[Question ID = 852][Question Description = 127_02_Political_Science_0CT22_Q27]
. Legislative Councils in state
T T Ty
[Option ID = 3405]
2. Specifies the number of seats for the Rajva Sabha
TS W R HIZ] ) W= HhhE we

[Option ID = 3406]
3. All India Services

[Option ID = 3407]

4. None of the above
IR § | IS A
[Option ID = 3408]

28) Which among the following is incorrect about Vice-President of India: While he discharges the
functions of the President:

TEgld % FE F e FAd G699 WEE ® SWIPdid & Ao § Heeigd § 8 6 6 e £
[Question ID = 853][Question Description = 128_02_Political_Science_0CT22_Q28]
1. He will perform the duties of the office of Chairman of the Council of States

[Option ID = 3409]
2. He will not perform the duties of the office of Chairman of the Council of States

F TSEET TSN T F TS H HAEA A5

[Option ID = 3410]
3. He will not be entitled to any salary or allowancez pavable to the Chairman of the
Council of Btates

=TI A W 4 TRl J09 A1 99 ok 2 Ral AE 2n

[Option ID = 3411]
4. He will not hold any office of profit

o 1S HT o0 o UE FE TR R
[Option ID = 3412]
29)  In which case the Supreme Court of India ruled that the provision of Judicial review comes
under an essential feature of the Indian Constitution -
GTA F SO A A A gEe 9 97 W T T S eeEee w SeEd 9ueE S i
AlEE TR o S A B ¢
[Question ID = 854][Question Description = 129_02_Political_Science_0CT22_Q29]



1. 8 R. Bommai caze

[Option ID = 3413]
2. Golaknath case
M4 JHAT
[Option ID = 3414]
3. MNanerva Mills case

[Option ID = 3415]
. Indira Sahani case

[Option ID = 3416]

N

30) Who amongst the following is the editor of the book “The Indian Paradox™?

'z stz TETm | AF T F AN el 3 8 w56 2
[Question ID = 855][Question Description = 130_02_Political_Science_0CT22_Q30]

1 Rajeev Bhargava

TTHE YTE
[Option ID = 3417]
2. Myron Weiner
A

[Option ID = 3418]
3. Bubhash Kashyap

HH™ F7Ad

[Option ID = 3419]
4. Granville Austin

[Option ID = 3420]

31)  In the event of the dissolution of a Panchayat hefore the completion of its time period. the
Panchayat constituted thereafter shall perform -

THHT T F FHE FEE I F O W A o R ° O TEd saa e e

[Question ID = 856][Question Description = 131_02_Political_Science_0CT22_Q31]

- For the remaining period

[Option ID = 3421]

2. For the entire five year
[Option ID = 3422]

3. As decided by Gram Sabha



. 3 o =
UTH TYT G 5471 A7 =9 R4 F19 |

[Option ID = 3423]
4. As decided by Gram Pradhan

19 W GET A9 [EHTEE T
[Option ID = 3424]

32) No monev bill can be introduced 1n the lezislative Assembly without the recommendation of
the

6 A T mE & e F0 A aeaE meEen § wee T8 S awy
[Question ID = 857][Question Description = 132_02_Political_Science_0CT22_Q32]
1. Speaker

s (T

[Option ID = 3425]
2. (Governor

ERES RG]

[Option ID = 3426]
3. Chief Minister

[Option ID = 3427]
4. Finance Minister

[ia T
IELRCE

[Option ID = 3428]

33) What is not included in ‘Five E' approach in Policy analvs=1s?

Hifa fawerm F wim 2 surm § Fofates 9 3 55 9 afofEg 796 20

[Question ID = 858][Question Description = 133_02_Political_Science_0CT22_Q33]

. Effectiveness

[Option ID = 3429]
2. Efficiency
zaAT
[Option ID = 3430]
3. Ethical Consideration

[Option ID = 3431]
4. Evidences

|oiE

[Option ID = 3432]

34 2 2 T 7 ;
) Tt 12 getting harder to run a constitution than to frame one” Who made this statement?



[Question ID = 859][Question Description = 134_02_Political_Science_0CT22_Q34]
' L.D. White

R e M
[Option ID = 3433]
2. Ronald Reagan
]--;HP-D ﬁTH

[Option ID = 3434]
3. Woodrow Wilson

[Option ID = 3435]
4. Margret Thatcher

‘f_?'iav

[Option ID = 3436]

35 . ) :
) Who among the following 12 the author of the book “Introduction to the study of Law of the
constitution?
FEeEs & 9 T S2iea9 2 3 528l 9% o1 #A0F § FEEZgEE AAE e ] 2

[Question ID = 860][Question Description = 135_02_Political_Science_0CT22_Q35]
1. A V. Dicev

.. =

[Option ID = 3437]
.3 ermy Waldron

_—
ﬂ‘.\q ’J!"'?i:‘

[Option ID = 3438]
3. Stephen M. Griffin

[Option ID = 3439]
4. Gordon Scoll

o -

[Option ID = 3440]

36)  Which among the following is not included In eclassification of Inferest groups given by
Gabrel Almond.

e TS G AR TR =R e 8 e | e 5 T6 87
[Question ID = 861][Question Description = 136_02_Political_Science_0CT22_Q36]
- Non Institutional Interest sroups

T FETHE e A

[Option ID = 3441]
2. Non Associational Interest groups



[Option ID = 3442]

3. Anomic Interest groups
[Option ID = 3443]

4. Asspeiational Interest groups

[Option ID = 3444]
37)  \Which of the following report is published by NITT AAYOG?

FETTEE | T R - T A E ge T o 2 7
[Question ID = 862][Question Description = 137_02_Political_Science_0CT22_Q37]
1. National Multidimensional Poverty Index
T FEATAH AT FEE
[Option ID = 3445]
* Economic Survey

[Option ID = 3446]
3. Unemplovment Rate

[Option ID = 3447]
4. National Sample Survey

[Option ID = 3448]
38) Who among the following propozed the concept of Constitutional Ombudsman 1in Parliament
in India?
Toeigs 8 o 9 9T 99 § 9397F B0 ° SRR 6 SN 5 e
[Question ID = 863][Question Description = 138_02_Political_Science_0CT22_Q38]
1. Dr. LM Singhvi

[Option ID = 3449]
2. Ashok Kumar Sen

[Option ID = 3450]
3. Shanti Bhushan

7 irq?-f. 'q_Ell][

[Option ID = 3451]
4. Avuna Ray



SEOT T

[Option ID = 3452]

39) What is the effects of slobalization on food security?

T AT T ST = g A
[Question ID = 864][Question Description = 139_02_Political_Science_0CT22_Q39]

Wealthy countiries subsidies and trade barrier make it difficult for developing
countries to take advantage of the potential of globalization for advancing food

security.
I 59 ANGE HEEA (AFEAS]) TEF FE 2 i ST aran EEwEeie 5o g wrE g e

[Option ID = 3453]

, World Trade Organisation rules do not cover agriculture. so globalisation really has no
bearing on food Security,
fava =mm WA Fem Fm A3 W A A Ae, SHie SvarE mE WA W anad 1§ =aed
[Option ID = 3454]

3. Supermarket are so far the only way in which food and agriculture have experienced

globalization.
HTHTZ F WA AF 98 49 7, T me v Fm A 8 v F 0 S A

[Option ID = 3455]
4 Developing countries need to create publicly owned food reserves in order to realise
the potential benefit.

Tl 29 1 99=T o0 1 U8 FH F FH § SEE] SEeaEE] @R 9SR # [Ed #6 #
AT 7|

[Option ID = 3456]

40) What is Government 2.07
JqFEE 2.0 FET

[Question ID = 865][Question Description = 140_02_Political_Science_0CT22_Q40]
. Its NDA in its IT term
T T 27T F TR FEFA 2|

[Option ID = 3457]
, It refers to Government policies that aim to harness interactive Internet tools to
create an open source computing platform.

T AR TORR A 7 R T 32 A A e wEwe g e F e
TP 32742 I (A1) T S0 T R

[Option ID = 3458]
3. It refers to Metaverse Virtual Reality world

THRT TEY HEH FeA e Weel aes (S gune ) | 2

[Option ID = 3459]
4. It refers to the Government of Nations emerged after II World War

7% Tom Tavaag 5% S92 1 90RRT § Tl 7

[Option ID = 3460]



1) Which of the following is correctly matched?

(A)
{B)
(C)
D)

Sexual Politics — Kate Millett

Second zex — Shulamith Firestone

The Fenunine Mystigue — Betty Friedan
The Dialectic of Sex — Nichalson

Choose the most appropriate answer from the options given below :

Frettefas @ & %9 981 &1 | gEied 27
(A) TS TeEEE-FE e

(B) #Fs H9E — WY B
(C) = FEAEe W - g e

(D) T EEEEEE STE-TFE - FEeE

1= T30, 7Te Taea] § 4 HeH SUGT ST 1 T4 I

[Question ID = 866][Question Description = 141_02_Political_Science_0CT22_Q41]
1. AandB Only

A A5 B

[Option ID = 3461]
2. B and C Only

A B3 ¢

[Option ID = 3462]
3. Aand C Only

Fam A H7F C

[Option ID = 3463]
4 A B.C, DOnly

a9 A B.C.D

[Option ID = 3464]

42)

(A)
(B
{(C)
D)

Consider the following regarding citizenship -

A citizen is known bv the rghts, he 15 allowed to exercise
A person living in the state territory is a citizen of state
Citizenship can be granted through proceszs of naturalization.

If one 1= horn in the territory of a state. he will be recognized as a citizen

Choose the correct answer from the options given below:



AUTORAT F HEd ° == i
(A) T ARG 999 A1 EE I9E0 F4 S8 S 2 A, 399 S A A

(B) 79 § 17 TE T3 ShE W F AV w41

(C) STl S3fEam 1 WTEa1 gFT T i 71 Tl 2

(D) =l FiE =t FH 7 F 990 § 51 =491 # @ =98 A0 5 E9 9 J6 S|

4= o m TEen § 9 9E 3 #5999 S0

[Question ID = 867][Question Description = 142_02_Political_Science_0CT22_Q42]
1. A B. COnly

a5 A, B. C

[Option ID = 3465]
2. B, C,D Only

a9 B. C. D

[Option ID = 3466]
3. 4€D Onlx

#aa A.C. D

[Option ID = 3467]
4. A B.D Only

#3949 A B, D

[Option ID = 3468]

43) Which among the following instruments of Direct Demacracy are functional in Switzerland?

(A) Landszemeinde
{B) Referendum
{C) Imitiative

(D) Reeall

Choose the most appropriate answer from the options given below :

FatehEs § ¥ 919 F I (o) e | s S WA e 5 R 7
&

(A

(B)

() T

(D)  TFEmH

$i fou o e 4 F TeE e I S i

[Question ID = 868][Question Description = 143_02_Political_Science_0CT22_Q43]
1. A B.COnly

Fa5 A, B, C

[Option ID = 3469]



2. A C.DOnly

Fa9 A C. D
[Option ID = 3470]
3. B.C.DOnly
#aa B.C.D
[Option ID = 3471]
4 ABCD
AB.C.D

[Option ID = 3472]

44)  The Saptang Theory of State Comprises:

{A) Swamy. Amatya

{B) Janpada/Rashtra, Mitra
{C) Durga, Kosa, Danda

{In Adhyakshas. Avamukham

Choose the correct answer from the options given helow :
(A) =T, A
®) T,
(C) T, #, 53

(D)  wEEE, sEEEY

i T L = T B b s L e 01

[Question ID = 869][Question Description = 144_02_Political_Science_0CT22_Q44]
. AB. CandD

A B.C#HRD

[Option ID = 3473]
2. C.D.A Only

Fae 0. D, A

[Option ID = 3474]
3. B.C.D Only

Fa9B.C. D
[Option ID = 3475]

4 A B.COnly
FTAA B, O

[Option ID = 3476]



45)

(A)
(B)
()
(D)
(E)

Which of the following statements arve incorrect with regard to Jayaprakash Narayan :

He believed in Guarantee of full individual and civil liberty
He believed in Cooperative farms run by Village Panchayats.
A true nationalist desires to build on old foundation

He regarded that Swarajva was not only a right but a Dharma’

J. P. was a Sarvodayl leader

Choose the correct answer from the options given below :

T WET AR % e § FeEied w0 d wE O 95 e ¢

(B)  IewM WH TEEA] GN AEHI FT 6 A W Avam
(C) == TiEEEl WA =E F1 Hia F Fear 2

(D) =991 OFA 91 7F TS Fae S0 95§ A90F 96 7
(Ey A1, wEmd) A 4|

#1 f5u U T § | OHE I R =99 AT

[Question ID = 870][Question Description = 145_02_Political_Science_0CT22_Q45]
1. A, B Only

Fa7A B

[Option ID = 3477]
2. C.D Only

Fae C.

D

[Option ID = 3478]
3. B.D Only

Fa4 B.

D

[Option ID = 3479]
4 D, EOnly

Fae D.

E

[Option ID = 3480]

46)

{A)
(B

(C)
(I

While Justifying the slavery Anrstotle zavs

“From the hour of birth some men are marked cut for subjection and other's for rule”

That man of “Capacity. foresight. self-reliance and the life of virtue are intended by
nature to work with their mind

That they have eapacity to discharge intelligentlv their own duties enly,

That they are machine without having any capacity to employ reason.

Choose the correct answer from the options ziven below :



TTEAT F A Se0H & #0 § 3] Fadl 2

(A) A e s e T i s a6 e i A )
5= T e I o it e T e e e e B e T e et O e e e B e
(C) T o Taargul @0 & e 9 % Rl & e o e w2

@ 53 o afe s e e e )

A= Too T Tl § H WA I W S99 FE

[Question ID = 871][Question Description = 146_02_Political_Science_0CT22_Q46]
1. B.C.D Only

Fa7 B. C. D

[Option ID = 3481]
2. D, C. AOnly

Faa D, C. A

[Option ID = 3482]
3. A B.COnly

Fa9 A B. C

[Option ID = 3483]
4. D.B.AOnly

F39 D.B. A

[Option ID = 3484]

47)  Which among the following ideas are part of Cultural Revolution.
(A) Children are the masters of new society,
(B) Only the poor peasants can and must be the basie force to be relied upen the land
reforma,
(C) Under feudal domination marriage 1= barbaric and inhuman institution.

(D) The women are reserve for home making,

Choose the most appropriate answer from the options ziven below :

FrefetEn § 3 Fi5 8 ==E S ias #id & 9 At
(A) &= 90 THTS & Hies (9) 7
(C) =Wl i F w=ia aas R e 30 9eEEE 5eae 2|

(D) Wi 9 FE1 =g A A w2

3/ fou T e B 9 wE I W 959 #iE

[Question ID = 872][Question Description = 147_02_Political_Science_0CT22_Q47]
1. A B COnly
7 A. B C
[Option ID = 3485]
2. A C.DOnly



Fa7 A, C s D

[Option ID = 3486]
3. B, C.D Only

Fa5 B.C = D

[Option ID = 3487]
4. A B.C.DOnly

Faa A.B.C =1 D

[Option ID = 3488]

48)  Consider the following statements regarding John Rawls's theory of justice?

(A) Justice 1s the first virtue of Social Institutions.
(B) Justice is the first virtue of State institutions
(C) In a just society the rights Secured by justice are not subject of political bargaining.

(D) In ajust society the vights secured by justice are not subject to zocial ohligation,

Choose the correct answer from the options given helow :

=T T % = g 999§ HEieiEs $2A 9 EEn i -

(A) =T T IEE T w50 A

(B) =T T T TR TR A

(C) % =T U \@ETE 0 = g GUEd SHEE TaHiaE WSl R e a6 Al

(D) T I 95 9ATA 0 A9 GF Hied SHaE BTETTaE sl A A6 A

= fav o fawedi § 9 W 39 w1 999 Hiom ;

[Question ID = 873][Question Description = 148_02_Political_Science_0CT22_Q48]
1. A BOnlv

Fa7 A B

[Option ID = 3489]
2. B.C Only

a3 B.C

[Option ID = 3490]
3. A C Only

Faa A, O
[Option ID = 3491]
4 A B.CD

ABCD

[Option ID = 3492]



49) Tvpes of policies proposed by Theodore J. Lowi

(A)  Diztmibutive. Redistributive.
(B) Regulatory, Constituent,
() Substantive. Procedural
(D) Dstributive, Substantive
(E)  Constituent. Procedural

Choose the correct answer from the options given below :

s,

rarEr =, Sl g wETEa AEd F T HeEnEd

(&) faw, THEeE
®B) FEwE. @3
(C)y witers, W™
(D) o=, Hies
(E) Hu2=%, TEATH

= fou o el § 9 T I =99 S

[Question ID = 874][Question Description = 149_02_Political_Science_0CT22_Q49]
1. Aand B Only

e A # B

[Option ID = 3493]
2. BandC Only

Fad BAT C

[Option ID = 3494]
3. CandD Only

#ae C @D
[Option ID = 3495]
4. Dand E Only

[Option ID = 3496]

50)  Which of the following book 1= /are authored by Max Weber

(A) The theory of Social and Economic Organisation
(B) The theory of Adminmistration of the State
(C) Economy and Society

(D) The Elements of Administration

Choose the most appropriate answer from the options given below



T=letiEs B 4 e i g S ge g el T

(A) 7§ e AT gETE U5 SIS ATEIE AT

(B) & Taardi =16 vsHMmIE 3 § 2

(C) iAW U2 GEEs

(D) = UEEEE ST TSI

S fam T e # ° HeE T9E I 95 e
[Question ID = 875][Question Description = 150_02_Political_Science_0CT22_Q50]
1. A Only

wael A

[Option ID = 3497]
2. AandBOnly

Fa9 A A7 B

[Option ID = 3498]
3. Aand D Only

was A {1 D

[Option ID = 3499]
4. Aand C Only

FaA A TC

[Option ID = 3500]

51)

Which of the following is/are not a characterstic of the modernisation process according to
Huntington

(A) It's a revolutionary process

(B} It's a reversible process

{(C) It’'s a homogenising process

(D) It's a complex process

Choose the most appropriate answer from the options given below :

TAeTigs B & ®iF 2leeT & SIE0 SEE I ] Ui & AT T 2R 7
(A)  &F T SEIfaETE WA 7

(B) = T TauEl wiE B

(C) =% T GHEWE T A

(D) =7 U Az A 2

1= 120 10 Teeal § H HeE SUE 30 F 99 I

[Question ID = 876][Question Description = 151_02_Political_Science_0CT22_Q51]

1. A C

Only

#ad A, C

[Option ID = 3501]



2. B Only
Fa9 B
[Option ID = 3502]
3. A B Only

Fa7 A B

[Option ID = 3503]
4 A Only

FaA A

[Option ID = 3504]

52 ! . ; { ; B 2 T
) Which of the following characterises Rational choice Insfitutionalism. as a new institution

approach In comparative politics?

(A) It explains interest based motivations of political actors
(B) It explains resolution of collective action dilemma
(C) It explainz cultural construction of interest and mstitutions

(I It follows a deductive approach

Choose the most appropriate answer from the options given below :
B B 1 e B G e b Gl e e = e 2 o e o e o e e L o e
(A)  °7 IS BAIAT B (5d G AN ] =W B A
(B) =% TAMEF THEN-TEA SEE F ST S A E
(D) =7 TS S0 H AP AT A

Jr=t fom 7w fawel B & TEE 9IS 1 549 i

[Question ID = 877][Question Description = 152_02_Political_Science_0CT22_Q52]
1. A Band C Only

FaF A BHERC

[Option ID = 3505]
2. A, B.and D Only

Fa9 A. B D

[Option ID = 3506]
3. Aand B Only

Fae A @B

[Option ID = 3507]
4. Band C Only

49 B AR C

[Option ID = 3508]



53) Which of the following iz ¢orrectly matched

(A) Doklam — Trijunction

(B) Easter day Terror Attack — Sri Lanka
() Ukraine - NATO

(D) Irag - GCC

Choose the correct answer from the options given below :

TATTEA # i =A w H EEe -

(A) ==TH - T
(B) 5% = Wl FEA — A
(C)  FFA - T’

(D) =% - S AT

319 Ton 7w o=t 5 9 Wa 390 o =9 i

[Question ID = 878][Question Description = 153_02_Political_Science_0CT22_Q53]
1. Aand D Only

Fge A 3 D
[Option ID = 3509]
2. A and B Only
A A s B
[Option ID = 3510]
3. BandC Onlv
Faa BATC

[Option ID = 3511]
4. AandD Only

wad A # D

[Option ID = 3512]

54)  Which of the following is correctly matched.

{A) Cold War - Bipolar

(B) Berlin Crisiz - 19565

() Cuban Missile Crisis - 1962
(I Marshal Plan - Japan

Choose the correct answer from the options given below :
T=ifehen ® 9 =9 99 &1 3 gEieE =
(A) @ ag - TogEm
(B) oA TH2 ~ 1955
(C)  =gen Toessl 992 — 1962

(D) =W A () S

319 Ton 7w o=t 5 9 WA 39 o =9 S0




[Question ID = 879][Question Description = 154_02_Political_Science_0CT22_Q54]
1. AandD Only

Fada A A D
[Option ID = 3513]

2. BandD Only
Fa5 BEED

[Option ID = 3514]
3. Aand C Only

Fae A 37 C
[Option ID = 3515]
4. Cand D Only
Fa= C @ D

[Option ID = 3516]

33) Which of the following i= esrrectly matched.

{A) Hydropower Diplomacy — India- Nepal
(B) Basic Group - China

Q) Group of 77 - USA

(D)  BIMSTEC - Pakistan

Choose the most appropriate answer from the options given below :

Fr=AfefiEs o 9 =9 97 Zn A gEieT 2 ¢
(&) =5 Toed BAE - 9P
(B)  =EE U9 - 99

© @E-77I-qwET

D TowEw - e

# oo Tawed § T T S 9 i
[Question ID = 880][Question Description = 155_02_Political_Science_0CT22_Q55]
1. AandD

Fa9 A3 D

[Option ID = 3517]
2. AandB

Fa7 A FT B

[Option ID = 3518]
3. CandD

wae C =7 D

[Option ID = 3519]
4 BandD

Fa4 B 50 D

[Option ID = 3520]



56)  Which of the following 1= correctly matched

(&)  Waron Terrorism — TUSA

(B) Maritime Silk Road - India
() Viktor Yanukovyeh - Ukraine
(D} Line of Control - China

Choose the correct answer from the options given below :
fr=fehgs § ¥ = 98 21 H a7 7
(A)  FEFAE F Eeg 95 - 1AL
(B) HMiGH s Hvl - Hwd

Q) Tamey amiEa - 54

(D) e Ty - =

g fom 7o e § | weE I I A =R A
[Question ID = 881][Question Description = 156_02_Political_Science_0CT22_Q56]
. Aand D Only
Fa9 A S D
[Option ID = 3521]
2. Aand COnly
Fas A AR C
[Option ID = 3522]
3. BandC Only
Fae B 3 €

[Option ID = 3523]
4 Cand D Only

Faw C @0 D

[Option ID = 3524]

>7) Which of the following 1= correctly matched.

{A) SAARC - Eathmandu

(B) Act East Policvy — Narasimha Rao

Q) Neighbourhood first policy — Narendra Modi

D) Asian Infrastructure Investment Bank — Kualalampur

Chaose the most appropriate answer from the options given below :



FetETEa T R T 2 W HEe 2

(A) A - FEEE
(B) T2 T UitetHl - TiEE T

(€)  TFe USHE B R AR - i 96

(D) RS HEEEE] HEe 6 — FEA e
Hra fou e e 1§ H=E v I R =g A

[Question ID = 882][Question Description = 157_02_Political_Science_0CT22_Q57]
' CandD Only

e C #E D

[Option ID = 3525]
2. Aand C Only

et A 30 C

[Option ID = 3526]
3. BandC Only

a4 B @ C

[Option ID = 3527]
4. Aand D Only

Fa5 A #n D
[Option ID = 3528]

58)  Which of the following 1s correctly matched

(A) Cavil hiability of Nuclear Damages Act - 2010

(B) India — UUS ten vear frame work Agreement for Defence Co-operation - 2015
(C) Defenice Technology and Trade Intfiative - 2020

D) Baszic Exchange Co-operations Agreement - 2010

Choose the most appropriate ansiwer from the options given below :
frertetas @ & %9 781 =7 3 gatem 2

(A)  wEmEE Sy s aEe SaEEE-2010
(B) T4 HEATI 7N WWA-SHIH SHEE B AEsia-2015
(C) 8T WETR i SR gEe- 2020

(D) #feF SRE-Y5H (Fe=A) 9297 FEsiT-2019

A= f5u U e B W weE IS I 1 99 A

[Question ID = 883][Question Description = 158_02_Political_Science_0CT22_Q58]
1. A and B Only

#a9 AT B

[Option ID = 3529]
2. BandC Only

Fa= B 3 C



[Option ID = 3530]
3. Band D Only

Fa9 B @n D

[Option ID = 3531]
4 AandD Only

FaEd A wE D

[Option ID = 3532]

59)

Which of the following have cauzed the growth of Co-operative federalism in India?

(A)
(B)
(C)
(D)

Union — State collaboration in economic matters
Union — State legislative relations
Compul=sion of developmental finanee

Dynamics of electoral politics

Choose the most appropriate answer from the options ziven below :

(A)
(B)
(©
)

mlf"‘j:-ﬁ HTHx -\-i 'EI' tiEF-_”«I“q Qr,?-l-l‘l

qg-17] Taurd Tay

P LR Pk e el B o v et e e e e 1

[Question ID = 884][Question Description = 159_02_Political_Science_0CT22_Q59]
1. A COnly

#ad A, C

[Option ID = 3533]
2. A D Only

FaFAD

[Option ID = 3534]
3. B.C Only

Fa5 B. C

[Option ID = 3535]

4. B, D Only

F25 B. D

[Option ID = 3536]

60)

Which of the following ave related to electoral reform in India?

(A)
(B)
()
(D)

Dinesh Goswami Committee
Indrajit Gupta Commitiee
Tarlkunde Committee

Santhanam Committee

Choose the correct answer from the options given helow :



Fr=TielEa 5§ 9 90 ° AR H i AEie A
(A) T e g

(B)  Z5ia T A

() GlE = HiHlA

(D)  AgwE AT

om0 faF=al © 5 HE 3 T 999 i

[Question ID = 885][Question Description = 160_02_Political_Science_0CT22_Q60]

1. A BOnly

a5 A. B

[Option ID = 3537]

2. B.C Only

F49 B, C
[Option ID = 3538]

3. A B.COnly

Fa9 A B. C

[Option ID = 3539]

4 ABCD

1.

ABCD
[Option ID = 3540]

61) What iz common in the eleetion symbols of the Samajwadi Party, Telugu Desam Party and

Manipur People's Party?

[Question ID = 886][Question Description = 161_02_Political_Science_0CT22_Q61]
Leaf

o

Rl

[Option ID = 3541]

2. Cycle

[Option ID = 3542]

3. Lantern

I -_.
[Option ID = 3543]
Flower
e

[Option ID = 3544]



62) . N
Which of the following 1s/are correct :

(A) Structural approach focuses on economy and efficiency,
(B) Human Relation approach deals with the relationship among the people working in
organization,

(C) Behavioural approach emphasises on the study of the development aspect of the
admimistration.

{Dy  Political economy approach emphasises on the application of economic methods and
models of political problem

Choose the correct answer from the options given helow .

B it nietes o e = fe=ri -

(A}  ETEATEOE P SUSEE U S W had 2 7
(B) #WEE HEY VW, W54 § @ W 1 w00 F 650g 599 H #909d 7 7
(C)  =HIEWAT] UVH, WA F @ SEET § SEEE WA 26l A

(D) TSR ST SO ANGE (Sl v AT S % WEdl % AT WS Sal A

foo mu fawemi © © TF 3= W =Ee A

[Question ID = 887][Question Description = 162_02_Political_Science_0CT22_Q62]
1. A B.DOnly

FF9 A B. D

[Option ID = 3545]
2. B, C.D Only

Fa5 B. C. D

[Option ID = 3546]
3. A BOnly

+a A. B

[Option ID = 3547]
4. C.D Only

Fas 0. D

[Option ID = 3548]

63)  Which of the following Schemes is/are launched by the current Central Government?

{A) Pradhan Mantr Awas Yojna.

(B) Kisan Nyay Yojna.

() Pradhan Mantr Gareeb Kalvan Yojna.
(D)  Mexri Policy Mere Haath

Choose the correct answer from the options given below :



T=TenEs B F w41 FE70, G6HE T ST G 9 O R R

(A)  THEEE SEE g
(B) Trom =ma g
(C)  TaEEEAT T e A

(D) W il 5T 219
120 70 TqF=a1 § | TRl 39 W 99

[Question ID = 888][Question Description = 163_02_Political_Science_0CT22_Q63]
1. A B, D Only

Fa9 A.B. D

[Option ID = 3549]
2. A B.COnly

FaeTA B, C

[Option ID = 3550]
3. A C.DOnly

FaFA.C. D

[Option ID = 3551]
4 A C Only

Fa A, C

[Option ID = 3552]

64) A Civil Society eco system usually includes within its ambit

(A) Non Profit Organisation

{B) Online groups

(C) Religious Leaders

D Lezislature

Chaose the most appropriate answer from the options given belaw :
R TPTR HHTA YA T § S T w0 w6 R
(A)  FETEFE TS

(B)  @AHAE 59

(C)  arEE A
iD’ %’JIT’-‘!‘I;

[ e =l e e e W e L

[Question ID = 889][Question Description = 164_02_Political_Science_0CT22_Q64]
1. A B.D Onls

F39 A.B.D

[Option ID = 3553]
2. A BOnly

#ae A, B



[Option ID = 3554]
3. A B.C.Only

FaAA.B. C

[Option ID = 3555]
4. A Only

FAA A

[Option ID = 3556]

65) Who wrote the book “The Rise of the Plebians™?

] = ¥ T i R e
T AIEE HIT T WA '-j‘.'.'l"—h I=FdA Tl

[Question ID = 890][Question Description = 165_02_Political_Science_0CT22_Q65]
1. Amartva Sen

e T
[Option ID = 3557]
Partha Chatterjee

[Option ID = 3558]
3. Chrstophe Jafferlot and Sanjay Kumar

2.

[Option ID = 3559]
4. Suhas Palshikar
TETH a1 forerT

[Option ID = 3560]

66) Match List I with List IT :
List I Tast IT
Author Books
(Ay D.D. Raphael (Il Elements of Social Justice
{B) Ernest Barker {II} Problems of Political Philosophy
(Cy L.T. Hobhouse (IIT) Principles of Social and Political
Theory
(D) F.A Hayek (IV) Constrtution of Liberty

Choose the correct answer from the options given below :



FH-1F 71 F1 FH-11 e i

-1 T=T-IT
(&) F.d. T (I) U =T #TF HEE FeE
(B) w5 aT (Il) WrseT=s 3 Tzt (el
(C) T=A. FEEEE (II1) TIETes ATF A U5 9eFa i
(D) TE.T. EEE (IV) FHE2IZTH #7F feaei

e Tom o fareal @ # T 39 W =99 FIran

[Question ID = 891][Question Description = 166_02_Political_Science_0CT22_Q66]
1 (A)-D). (B)-(IID). (C)-(1)., (D)-(IV)

[Option ID = 3561]
2. (AT, (By-(ID. (C-IV). (D)-(1)

[Option ID = 3562]
3. (AL, (B)-(IT), (C)-(TIT). (D)-(IV)

[Option ID = 3563]
4 (AIV), (B)-(T), (C)-(IIT), (D)-(IT)

[Option ID = 3564]

67) Mlatch List I with List IT :

ListI List IT
Thinker Idea
{A) Hobhes (Ii  Proportional Representation
{B) Locke (I} Popular Sovereignty
(C) Rouszeau (IIT) Constitutional rule
(D) John Stuart Mill (IV) Ahsolutism

Choose the correct answer from the cptions given below :

TT- 1 % =79 =1 ge=i- 11 5= =it

GEIB! -1
(A) =T (I) AT it
(B) & (I) =R HOEA
() = (IIT) HaT oA
(D) = = TE (IV) TreFemmEn

Hr= fou U faweal | @ WA I F1 9EA FE

[Question ID = 892][Question Description = 167_02_Political_Science_0CT22_Q67]
T (A)D). (B)-(IT), (C)-(IID), (D)-(IV)

[Option ID = 3565]
2. {A)(IV). (B)-(III), (C)-(IT). (Ih-(T)

[Option ID = 3566]
30 (AL, (By-(I), (C)-(III), (D)-(IV)



[Option ID = 3567]
4 (AN, (B)-(ID. (Cr-(D). (D)-(IV)

[Option ID = 3568]

68) Match List I with List IT :

Tist1 List IT
Theory / concepts Thinkers
{A) Integral Humanism (I), M. N. Roy
(B} Total Revolution (Il Deen Daval Upadhyava
(€C) Radieal Humanism (ITT) Perivar
{D)  Self Respect Movement (IV) Jaya Prakash Naravan

Choose the correct answer from the options given below :

T=Hi-17F =9 1 GH1-11 o =itam

1 AT
(A) TFEH AMEET (I mHH. T
(B) @y il (D) == T e
(C) =u BFETER (IITy wicam
(D) s HEE e (IV) ey A

== U T e § F WE I =E A

[Question ID = 893][Question Description = 168_02_Political_Science_0CT22_Q68]
T (A, (B)-(D). (C)-(IT). (D)-(IV)

[Option ID = 3569]
2. (AL, (By-(IV). (Ci=(I), (D)-(IID

[Option ID = 3570]
3. (A, (Bi(ID. (C)-(IV), (D)(III)

[Option ID = 3571]
4 (A)-(IV). (B)-(I). (C)-(II). (D)-(I1D)

[Option ID = 3572]

69) Match List I with List IT:

TastI List IT
Books Authors
(A) Political Parties (I) C. Wright Mills
{(B) Ruling Cla=ss (I} Robert Nhchels
(C) The Power Elite (III} Gaetano Mosca

(D) The Mind and Society (IV) Vilfredo Pareto

Choose the correct answer from the options given helow !



-1 w19 F gA-11 e Fifaw

il THI-IL
(A) iierle® w2t (M =i e wem
(B} = 91 (II) /&2 HEF
(C) %I el TRl (ITT) 727 Bt
(D) =1 =1 TE 5 I (IV) fass o

= Tou T Eppe B H J@F 39 999 FilEn

[Question ID = 894][Question Description = 169_02_Political_Science_0CT22_Q69]
T (A)(ID). (B)-(I). (€)-(I1D). (D)-(IV)

[Option ID = 3573]
2. (A)IT). (B)-(IV). (C)-(I1I). (D)-(T)

[Option ID = 3574]
30 (AT (By-(IIO), (C)-(IV). (DD

[Option ID = 3575]
4 (AT, (B)IIL). (C)(D). (D)A(IV)

[Option ID = 3576]

70) Who has written the hook 'Gender in International Relations

i =1 55 e T it MO o, SIS
F=1 A FEHTEA e A T e e 22

[Question ID = 895][Question Description = 170_02_Political_Science_0CT22_Q70]
1. Ann Tickner

[Option ID = 3577]
2. Cwynthia Enloe

Tate 5=
[Option ID = 3578]
3. Arundhati Roy

[Option ID = 3579]
4. Hillary Clinton

[Option ID = 3580]



71)  Match List T with List T1 :

List I List IT
Books Writers
(A) Tragedyv of Great Power Politics () Zakara
(B) Politics among Nations (I} Waltz
(C)  Theory of International Palitics (IIT} Morgenthau
(D) From Wealth to Power (IV) Mearsheimer

Choose the correct answer from the options given below |

-1 F19 F1 F=1-11 f5em Fiw

71 I
(A} ZHE AT T2 T WAREE Iy =
(B) ifeAiza THT A (I =z
(C) ZAN ATH TEATF qIeTeaH (IIT) Jereais
(D) wH =FeU Z T (IV) Teaeamm

Hr= fom T T © F T T = e
[Question ID = 896][Question Description = 171_02_Political_Science_0CT22_Q71]
T (AMIV), (B)-(II), (C)-(ID), (D)-(T)

[Option ID = 3581]
2. (A)-(II0). (By-(I). (CH-{IV), (Dy=IT

[Option ID = 3582]
30 (A)-(TIT)., (By=(ILy, (Cy=(Ty. (D)-(IV)

[Option ID = 3583]
4. (A-(T). (B)-(II). (C)-(IV), (D)-(II1}

[Option ID = 3584]

72)  Natch List Twith List IT ;
List I List IT
Women Group Place
(A) Forum Against oppression of Women  (I)  Delh:
(B) Saheh (II) MNumbai
(C) Stree Shakti Sangthan (ITT} Bangalore
(D) Vimochana (IV) Hyvderabad

Choose the correct answer from the options ziven below :



-1 % =y #1 gE-10 faes i

T ThII

Hie=1 T EEe
(A) IR HEZ HOEA T T I ==
(B) F=A In =mE
(C) =T T (III) ==n
(D) =T (IV) Foamm

S/ B T el § H T 3 9 99T ST
[Question ID = 897][Question Description = 172_02_Political_Science_0CT22_Q72]
1. (A, (B)-I5), (C)-(IV). (D)-(IIT)

[Option ID = 3585]
2. (A)-(ID), (B)-(IID), (Ci-(D). (D)-(IV)

[Option ID = 3586]
30 (A(IV). (B)-(Th. (O)=(IT). (D)(I1T)

[Option ID = 3587]
4 (A)(ID. (B)-(D), (C)-(IV}), (D)-(I1II)

[Option ID = 3588]

73)  Matech List I with List IT :
List T Last II
Trade Union Partv / Organisation Affiliations
(A) All Imdia Central Council of Trade (I) Dravida Munnetra Eazhagam
Tnion
(B) Bharativa Majdoor Sangh (II) Commumnist Party of India (ML)
(C) Imdian National Trade TUnion (II) Indian National Congress
Congress
(D) Labour Progressive Federation (IV) Rashtriya Swayvamsevak Sangh

Choose the correct answer from the options given below :

g=fi-1% =g =1 g=h-11 e it

L Exiatl
(A) e St Hegel Wi S 25 JHE @O Es T w
(B) WA A A (D) ==gi= 9l AvE Srsar (oAue)
(C) == = 25 g A (L) === Fome =mA
(D) = WHEE wEEE (IV) TEE =a9aF o9

#ra fBu T T § 1 HE 3 F =ET FEn

[Question ID = 898][Question Description = 173_02_Political_Science_0CT22_Q73]
T ATV, (By-(T), (C)=(I1), (Dy=(I1T)

[Option ID = 3589]
2. (A (D), (By-(1D), (Cy-(IL). (D3-(IV)



[Option ID = 3590]
3. (AN(ID). (B)-(IV). (C)H-(IID). (D)(T)

[Option ID = 3591]
4. (A)IT), (B)-(IIL). (C)-(IV). (DH(I)

[Option ID = 3592]

74) Watch List I with List I :

Tist T List IT
Theory/Concept Thinlzer
{A) Constructive Conflict (Ii  Frederic Herzherg
(B) Acceptance Theory of authority and (III) Abraham Maslow
‘Zonal Indifference’
(C) Hierarchy of Needs (IT) Chester I. Barnard
(D)  Hveiene-Mativation theory (IV) Mary Parker Follett

Choose the correct answer from the options given below :

g=1-15 = F1 gH1-11 foam Fian

71 T
(A) ==l FiFew (I) =i w=a
(B) uwwEwzH awd @i #aid Uz AEe e (D e S
(C) Frerht ¥ Frem () == 7. 791=
D) FEdE-Aite fad @AV) T g R

I om0 Tawe ® 9 W 39 1 99T i

[Question ID = 899][Question Description = 174_02_Political_Science_0CT22_Q74]
1. (A(IV). (B)-(IID. (C)~«I). (D)~(ID)

[Option ID = 3593]
2. {(A}-IV). (B)-(III), (C)-(I0). (D)-(I)

[Option ID = 3594]
30 (A)AIV). (B)-(IL), (C)-(IID), (D)-(I)

[Option ID = 3595]
4. (A)AIV). (B)-(T). (C)-(II). (D)-(IIT)

[Option ID = 3596]

) Mateh List T with List IT :
ListI List IT
Place Jansunwal
{A) Kot Eirana (I)y IVih Jan Sunwai
(B) Bhun (ITy Ist Jan Sunwai
(C) Viapura (IITy IInd Jan Sunwai
(D} Jawaja (IV) ITIvd Jan Sunwai

Choose the correct answer from the options given below :



FH-15F =9 1 T=-11 T Firew

-1 I

T Bkl E_'IH'I'EE
(A) = (Iy =l 59 g
(B) ™ (II) w8 57 T
(C) =fr=mam (IT) 7=t = FFars
(D) == IV) =/ =9 g

A 15U TEedl B H HE 36 999 il

[Question ID = 900][Question Description = 175_02_Political_Science_0CT22_Q75]
T (A)-(ID). (B)-(III). (C)-(Iy. (D)-(IV)

[Option ID = 3597]
2. (A)(D). (BIAII). (C)-(IIL. (D)-(IV)

[Option ID = 3598]
30 (AL (B)(IID. (Cr«(IV). (DHAT)

[Option ID = 3599]
4. (AYIID). (B)-(IV). (C)-(D). (D)-(ID)

[Option ID = 3600]

76) Arrange the following conventings on rights in Chronological order.

(A) The International Covenant on Civil and Political Rights,
(B) The Convention on the Elimination of All forms of Diserimination Against Women.

() The American Convention on Human Rights.

Dy The Universal Declaration of Human Rights.

Choose the correct answer from the options given below :

et Afgwm mEd st w1 FeETgEn satea Fian-

(I T S TS SR W SN TEE
(2)  wiEENS F TEETE 9T9E F 9 =E F AE W OATEE
(3)  OEETEET W A Areena

(4)  FEETEEE 1 AEHEE 2|

dr= 2o T fawed] B | TE 390 6 999 FiEv

[Question ID = 901][Question Description = 176_02_Political_Science_0CT22_Q76]
. ABCD

[Option ID = 3601]
2. DACB

[Option ID = 3602]
3. ¢.D.B.A

[Option ID = 3603]
4 B.AD.C

[Option ID = 3604]



77) Given helow are two statements :

Statement (I) :  John Stuart Mill divided all actions of the individuals into two categories

viz., self regarding actions and other regarding actions.
Statement (IT} : John Stuart Mill savs “Liberty consists in not doing what one desires”

In the hight of the above statements. choose the most apprepriate answer from the options

given helow :

19 71 e f5r o B

F () T e {09 A =l i e w o gl § et e st s G

Fr (1) ; S w230 FEA 2 A = o 9l 5, 39 9 F9 § = e e
ITT FAA F AW 9, A BT T § § TwWE S 39 6 =9 i

[Question ID = 902][Question Description = 177_02_Political_Science_0CT22_Q77]
1. Both Statement I and Statement IT are corrvect

o 1 30 I 5 981 7
[Option ID = 3605]
2. PBoth Statement I and Statement IT are incorrect
Fo 1 3 11 5F] a2

[Option ID = 3606]
3. Statement I1is correct but Statement II is incorrect

FuF [ o7 2, =i F99 L7 7

[Option ID = 3607]
4. Btatement I is incorrect but Statement IT 1z correct

w2 17 2, W #o A3 7
[Option ID = 3608]

78)  What is the correct sequencing of these movements in India.

(A) Quit India Movement
(B) Non Co-operation Movement
() Civil Dischedience Movement

(D) Total Revolution Mevement

Choose the correct answer from the options given below :



e § Fefeias e w5 e AT
(&)  WEE IR e

(B)  smEeam sEeE

(C)  =feEa Fam #HAneH

(D) =YYl I AR

19 o T Tl B A " 39 # W= i
[Question ID = 903][Question Description = 178_02_Political_Science_0CT22_Q78]
. B.C.AD

[Option ID = 3609]

2. D,C.AB
[Option ID = 3610]
3. B.C.D.A

[Option ID = 3611]
4 D.B.C A

[Option ID = 3612]

79) Arrange the following according to the chronological orders.

(A) Lahore Declaration
(B) Tashkent Agrecment
(C) Indo-US Civil Nuclear Co-operation Agreement

(D) Indo-Soviet Treaty of Peace. Friendship and Cooperations.

Choose the correct answer from the options given below :

e e L T

(&) e s
(B) HTeFS TEEET

(C) WA EEE S JRan aEeE

D) Wi, T A s SR - we

“r fau o fawem 5 | wE I W = e

[Question ID = 904][Question Description = 179_02_Political_Science_0CT22_Q79]
. DCEBA

[Option ID = 3613]
2. B,D.AC

[Option ID = 3614]
3. AC.B.D

[Option ID = 3615]
4 D,A.B.C



[Option ID = 3616]

80) Arrange the following according to chronological order.
(&) Kyoto Protocol
(B) International Covenant on Economie. Social and Cultural Rights,
(@) UN Conference on Environment in Rio de Janeiro.

(D) UN Declarations of Human Rights,

Chooze the correct answer from the options given below :

TATeTEs 1 AR FE Sl A -
(A) T W

(C)  TEls-S-FET @ TEE W . e |
(D)  TEETEEE W g, FEE

49 o 7o TFeT 0 ¥ 5E I F =99 Fian

[Question ID = 905][Question Description = 180_02_Political_Science_0CT22_Q80]
1. ACB.D

[Option ID = 3617]
2. D.B.C.A

[Option ID = 3618]
3. D.C.A.B

[Option ID = 3619]
4 B.C.,A.D

[Option ID = 3620]

81) Arrange 1n order:

The Right to Freedom of Religion as enshrined in the Constitutien of India.

(A) Freedom to manage religious affairs

(B) Freedom as to pavment of taxes for promotion of anyv particular religion,

(C) Freedom of conscience and free profession: practice and propogation of religion.

(D)  Freedom as to attendance at religious instruction or religious worship In certain

educational institutions.

Choose the correct answer from the options given helow :



FH § e -

YA F AEGE 5 9IEF = F AR F T 5 TEE A S EEEE S i
(A)  ariHF amE % T F el

(B) Tl Wi 99 % Haud =d F00 6 YOAH = SEawd

(D) TFET FETUER FE R IS HAST SS9 G IA-ughh A 39T B i =

4/ Ton o fawet § 1 OF I @ =999 Fian

[Question ID = 906][Question Description = 181_02_Political_Science_0CT22_Q81]
. CLABD

[Option ID = 3621]
2. BBADC

[Option ID = 3622]
3. AB.C.D

[Option ID = 3623]
4 B.ACD
[Option ID = 3624]

82) Arvange the following regional political parties in chronolozical order. as
per their date of establishment.
(A) DA
(B)  Shiromani Akal Dal
(C) TDF

(D) Biju Janata Dal

Choose the correct answer from the options given below :

(A) Sums
(B) Tommfm s =
(C) 2=l

(D) =g a1 oA

= Tou 7w famedl 8 T 91 I 9 999 A
[Question ID = 907][Question Description = 182_02_Political_Science_0CT22_Q82]
" 'B.ACD

[Option ID = 3625]
2. ABCD



[Option ID = 3626]
. ABDC

[Option ID = 3627]
4 DABC

[Option ID = 3628]
83)  Arrange the following thinkers in chronologic order of their birth year

{A) Chester Barnard
(B) MLP. Follet
(C) Henri Fayal

(D)  Dwight Waldo

Choose the correct answer from the options given below :

Frfefian et 1 ok e 7k 35 0 0 s = b

419 oo 0 e § O OE 39 F 99w

[Question ID = 908][Question Description = 183_02_Political_Science_0CT22_Q83]
T (B (0. (D). (A)

[Option ID = 3629]
2. (C) (B (A). (D)

[Option ID = 3630]
3. (0. (D). (B (A)

[Option ID = 3631]
4. (A1 (B (C). (D)

[Option ID = 3632]
84) Arrange the following Schemes by order of the launching year

{A) Demonetization
(B} Goods and Services tax Act
(C) Pradhan Mantri Jandhan Yojna

(D) Beti Bachao, Beti Padhao

Choose the correct anzwer from the options given below :



MHEeEn a1 39 399 99 & F4 § AT Sag Fian

(A)
(B)
()

(D)

EIE

i
e ud HEE (S AL ) wfatem

T S I

20 0 faF=a] § § T3 39 & 9949 FI0E0 ;

[Question ID = 909][Question Description = 184_02_Political_Science_0CT22_Q84]
1. (A). (B), (C). (D)

[Option ID = 3633]
2. (A), (B}, (D). (T)

[Option ID = 3634]
3. (D) (A). (B). (C)

[Option ID = 3635]
4. (C) (Do, (A (B

[Option ID = 3636]

85)

Given below are two statements : One is Iabelled as Assertion A and the other 1= Iabelled as

Reazon R,

Assertion (4):  “Until Philosophers are kings and princes of the world have the spirit and
powers of Philosophy, cities will never have rest from their evils:

Reasons(R) : The republic aimed at the representation of human Iife 11 a state perfected

by justice and governed according to the 1dea of good,

In the light of the above statements. choose the most appropriate answer from the options

given below :

4= = Fv Wuw 2 uw sieweE (Assertion (A)) % =9 ¥ g 7 Al i % #1107 (Reasons (R))

FETH

FITRET (A) Bl s S e b e e o e R e e b e A e i R e
T T4 F WIS | OHF Al A A A

=+ (R) | TR T T Tt 91 S5 w6l 90 w5 S 6 S A e e 5w e
* foam w smaifie w=a 7o o e s

IWEE FE T A O, 49 T e e § 8 men a0 w i A

[Question ID = 910][Question Description = 185_02_Political_Science_0CT22_Q85]

. Both (A) and (R) are correct and (R) is the correct explanation of (A)



(A) 311 (R) 21 951 & &1 (R), (A) =i 981 =ne=gr &

[Option ID = 3637]

2. Bsth (A) and (R) ave correct but (R) is NOT the correct explanation of (4)

(A) #1997 (B) oFm =91 =, =k (R), (A) =R T@1 =ams =191 =

[Option ID = 3638]

3. (A) is correct but (R) is not correct

(A) TH 2, #F (R) 791 751

[Option ID = 3639]

4. (A) is not corvect but (R) is correct

(AY T 97 &, w (R) 3 &

[Option ID = 3640]

86) (Given bhelow are two statements :

Statement I . Karl Marx agreed with Hegel that history unfolded 1tself aceording to a

dialectical plan. But according to Marx the ideas were the result of

materal conditions.

Statement IT :  Dialectical matemalizm believes in the inseparability of matter and

motion.

In the light of the above statements. choose the most appropriate answer from the options

o1ven below !

= T W9 T T

T I  F 59 A0 3 5EEA 4 TF SR 3E0RE T AT A9 TR T A 7|

o % s e Wi Eafear = g )

wuA I1:  GEiens Sawas werd vE A 1 SuTaeEaT § S w4 2
ITRF F4 A §, 4 150 T e § H wEE 39 3T 1 wA R0

[Question ID = 911][Question Description = 186_02_Political_Science_0CT22_Q86]
1. Both Statement I and Statement IT are correct
F74 1 [ o9 =

[Option ID = 3641]

2. Both Statement I and Statement IT are incorrect

[Option ID = 3642]

3. Statement I is correct but Statement II 1s Incorrect



Foq 1 a7 2, = F99 7T =

[Option ID = 3643]
4. Statement I 1s Incorrect but Statement II 1s correct

F2F 170 7, AT FeF [ Oa 2

[Option ID = 3644]

87) Given below are two statements : Orne is labelled as Assertion A and the other is labelled as

Beason R.
Assertion (A): A student of Comparative politics should study the behaviours of voters.
Reasonz (R); A student of comparative politics has to deal with the entire political

systems,

In the light of the above statements. choose the most appropriate answer from the options

given helow :

9 = FuT 7 O F v aiEee (Assertion (A) F w9 0 TahEs & al = 0% F79 (Reagons (R))

HETH
ATTFUA (A) AR A1 o TRE] M Tl 1 SAsE F a1 A5EA HA =3
F (R) Co i | T el e 2 B 1 e B e R T i e e o B e et

I FYA B AT A, A 5 e 5 H wEE 39 I F 99 i

[Question ID = 912][Question Description = 187_02_Political_Science_0CT22_Q87]
1. Both (A) and (R) are correct and (R) 1s the correct explanation of (4A)

(A) = (R) 5F1 9 2 30 (R), (A) 1 A& =men 2

[Option ID = 3645]
2.  Both (A) and (R) arve correct but (R) 18 NOT the correct explanation of (4)

(A) #7 (R) =M1 541 &, =i+ (R), (A) i T8t =z 7961 =

[Option ID = 3646]
3. (A) ig correct but (R) 18 not correct

(A) =4 2, wit®a (R) 981 981 2

[Option ID = 3647]

4. (A) iz not corréet but (B) is correct

(A) BF1 T 7, oA (R) W4 2

[Option ID = 3648]



88) (iiven below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (4):  India has a hybrid system of government,

Reasons (R) ; The hybrid system combines two classical medels: the British tradition and
American principles.

In the light of the above statements. choose the correct answer from the options given below :

99 = w9 A W 7 ;v AfawEA (Assertion (A)) F TH H fehEs # 71 590 35% T0W (Reasons (R))

FEIH
HAFIA (A) qWH H HERT T T =T 7
F (R) T ST | o] WA Y - TRz wny vd sAiehT g wiete 7

YT FYF B ATAE A, A 5 e § H wEE 39 3 1 a9 R

[Question ID = 913][Question Description = 188_02_Political_Science_0CT22_Q88]
. Bath (A) and (R) are correct and (R) is the correct explanation of (A)

(A) i (R) 291 &1 2 0 (R), (A) #1781 =men 2

[Option ID = 3649]

Both (A) and (R) are correct but (R) 18 NOT the corvect explanation of (A)

(A) 37 (R) 5F1 591 & =it (R), (A) 1 781 =men 01 7

[Option ID = 3650]

3. {A) is correct but (R} is not corrvect
(A) 951 2 & (R) 981 751 7

[Option ID = 3651]

4. (A) is not correct but (R) is correct
(A) =7 75 2 |l (R) 991 2
[Option ID = 3652]

89) Given below are two statements

Given below are twe statements : One 1s labelled as Assertion A and the other i1s labelled as

Reason R.

Assertion (A) :  Pressure groups are invelved 1n politics and policy making process in India
through direct and indirect means.

Reasonz (R) : They aspire to come to power to achieve their goals.

In the light of the above statements, choose the correct answer from the options given below :



Hr= =t F9a T £ ¢ vF i9Ee (Assertion (A)) F ¥ T fHfEa 2 71 501 304 F09 (Reasons (R))

AR (A) e =1 TEAEE 917 A9 e 0 ° TEE TEE T 0 ATeEE 3 F OTem 3
e 2| 3
=T (R) : =T AT FET T WH FA 7 T W A S SAERET T A

T FA F AR, A R EEe %" JA 3 6 =S F e

[Question ID = 914][Question Description = 189_02_Political_Science_0CT22_Q89]
1. Both (A) and (R) ave true and (R) 12 the correct explanation of (4)

(A) #F (R) =21 979 2 311 (R). (A) 1 51 =am= &

[Option ID = 3653]
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (A}

(A) 1 (R) 51 =3 2 =10 (R), (A) 1 971 =901 97 2

[Option ID = 3654]
3. (A) 1z true but (R) is false

(A) T £ w9 (R) 59 2

[Option ID = 3655]
4. '(A)1s false but (R) 1s true

(A) 3750 2, =i (R) 973 7

[Option ID = 3656]
90)  Given below are two statements :
Statement I : U.N. has defined 12 Pillars< of zood governance.

Statement IT : 8DG 14 1= directly inked to improvement In governance,

In the light of the above statements. choose the correet answer from the options given helow :

Foe [ HE T2 A9 A GO 12 T F gy =

FoA I1: A7 s w14 H19 7% W9 | gEE g 2

T FUA F AR, A9 (50 0 SR 5 | WAl 390 =9 i

[Question ID = 915][Question Description = 190_02_Political_Science_0CT22_Q90]
1. Both Statement I and Statement II are true

F2 [ 30 Il o9 a9 7



[Option ID = 3657]
Both Statement I and Statement IT are falze

Fue 13 [ 51 =50 2

[Option ID = 3658]
Statemient I 1s true but Statement II 1= false

o 1909 2, =9 %A 11 5690 8
[Option ID = 3659]

Statement 1 is false but Statement II 1s true
wue [ 390 2, i F99 [ 8eg 2

[Option ID = 3660]

Topic:- 2_SH1_PARTB_S1

1)

Read the passage and answer the questions :

The theme of the World Economic Forum's Annual Meeting 2019, held in Davos was
Globalization 4.0. Globalization 1.0 started in 1820 and ended at the starting of World War -1.
Globalization 2.0 bezan after World War-II and ended arvound 1990. These two are called old
globalization. Old globalization was especially beneficial to today’s rich nations, The G7 saw
rapid growth of thelr exports. income. and Iindustry compared to today’s poor nations during
old globalisation. This led to what Kenneth Pomeranz. a historian. ecalls the Great
Divergence. Globalization 3.0 was termed as new globalization.

This ‘new globalization’. or Glohalization 3.0. had dramatically different effects on world
income (GDP) shares. In just 20 vears, the G7 share of world GDP plummeted to 50%, and 1ts
share of trade to 32%. This trend. which maight be called the ‘Great Convergence'. 1= surely the
dominant economic fact of the last 20 or 30 years.

What happened to the landscape of global manufacturing? The GT7 nations lost shave
gradually hetween 1970 and 1990. followed by an accelsrated dechine from 1990, To where did
manufacturing gp? Just six developing nations-which we might call the TRapdly
Industralizing 6°. or I-6 for short-accounted for almost all of it. The I-6 are China. Korea.
India. Poland. Indonesia and Thailand. It gammed almost 16 percentage points of world
manufacturing in just 20 vears.

Globalization 4.0 1z driven by cutting edge new technology like AT, Cloud Computing etc,
These technologies shrink distances. open up borders and minds and bring people all across
the glohe closer together, These technologies are changing the nature of work where no
physical presence of workers will be required. Such workers are termed as telemisrant —
persons who live 1n another developing country while working for a company located in a
developed country.



T 0 STENST G99 ATF B F A seF 2019, Fi 9ug 9w Svdem 4.0 o) SvEeeer 10 a6
1820 § AWY 2371 vd 7o fava 23 % Sy § w9 | dvdiEm 2.0 foim TeE 95 F oam ey wa
3 A9 1990 T FE-TW TEM 23| T 51 WEH SvEEA FEA 2| WA S9EE @0 qi W a6
g1 T1gt % fee, et &l -7 5 T 35 F SRE gane 59 T F aee § A, o0 v e
o | Jig o5 F1 THEF F00 UF sfonman FEd OER 56 (9ene ATH FEd Rl AvErEE 3.0 A
Syt T T AT
=8 T3 A @ AT 3.0 7 Afvas 9 (SIET) TEEi W TeEeTE 2 5 9gE TaE S 2
o 20 T 8, fava SEd § Sfi-7 A1 o 50% i smE 1 e 32% 9% 92 2 9w T,
f—-m ‘Tt sifumem’ w91 WA 2, FEGE {99 20 30 30 997 I HecAysl A SRR 2

Sy fafmior = afgya 1 =0 2o 7 -7 Wg A 9T 1970 W 1990 S HEw HEAH H A
aﬁmoan = ot sfmte e s &) el =61 297 o or TEweiw o, 62 e e
4% IEFET 2 6 A1 3E—6 F2 Thd 2 F HH F51 HF HAT| 3E-6 H oH, FHE, TE, s,
SEFTT SR UTEEvE e | 9 S 99 ° T54 @vg [@eEn w0 16 TEee S99 9T 2

FTATFT 4.0 WIE,, TS TP A A A A A ge Seien 21 T fene g
=3 a1 T 7, 1 A Eetee am § fm we e F A g e o § T
The term Great Divergence 1s related to

(A) Globalization 1.0
(B) Globahzation 2.0
(C)  Globalization 3.0
(D) Globalization 4.0

Choose the correct answer from the options given below :

L i e L G = e e 115 B

(&)  ATEFET 1.0
(B)  AverE 2.0
(C) v 3.0
(D) Hydm 4.0

49 for ™ TEeT 6 9 TE T w1 959 e

[Question ID = 916][Question Description = 191_02_Political_Science_0CT22_Q91]
1. O Only

Fad C

[Option ID = 3661]
2. A BOnly

Faa AT B

[Option ID = 3662]
3. D Only

Fa4 D

[Option ID = 3663]
4. B.C Only



2)

a5 B An C

[Option ID = 3664]

Read the passage and answer the guestions :

The theme of the World Economiec Forum's Annual Meeting 2019. held in Davos was
Globalization 4.0. Globalization 1.0 started in 1820 and ended at the starting of World War -1.
Globalization 2.0 began after World War-1I and ended around 1990. These two ave called old
globalization. Old globalization was especially beneficial to today's mich nations. The G7 saw
rapid growth of thelr exports. income, and mmdustry compared to teday’s poor nations during
old globalization. This led to what Kenneth Pomeranz. a historian. calls the Great
Divergence, Globalization 3.0 was termed as new globalization.

This ‘new globalization’. or Globalization 3.0. had dramatically different effects on world
inconie (GDP) shares. In just 20 years, the G7 share of world GDP plummeted to 50%. and its
share of trade to 32%. This trend. which might be called the ‘Great Convergence'. 13 surely the
dominant economic fact of the last 20 or 30 years.

What happened to the landscape of global manufacturing? The GT7 nations lost share
gradually between 1970 and 1990, followed by an accelerated decline from 1990, To where did
manufacturing go? Just six developing nations-which we might ecall the Ramdly
Industrializing 6. or I-6 for short-accounted for almost all of it. The I-6 are China. Korea.
India. Poland. Indonesia and Thailand. It gamed almost 16 percentaze points of world
manufacturing in just 20 vears.

Globalization 4.0 i1z driven by cuiting edze new technology like Al, Cloud Computing etc.
These technologies shirink distances. open up borders and minds and bring people all across
the globe closer tozether. These fechnologies are changing the nature of work where no
physical presence of workers will be required, Such workers are termed as telemigrant —
persons who live in another developing country while working for a company located In a
developed country.

AW T AT [Gva AF Fg F aneE seF 2019, Fi famm = Avdrem 4.0 o SvEeer 1.0 T6
1820 § FWY T3 U3 T9H fAv9 35 F 09 ¥ T 14| dvdm 2.0 5iE T 95 F w9y e
AR A9 1990 F FE-I T 22 T 51 T Sy SR 2| T SeEE =99 3 W a0
ot 77l % fom et an| -7 3 TR 3vE & AR IeEE e g f 3o | e, o v s
o dg Jig 79 H1 (EF F vE Sioamwn 92 U 38 (e AU Fad 2| dvdeEm 3.0 F oA

HudTER T T
=8 ‘T3 dvdEy A dvEEm 3.0 9 S3fTas om (SE) wEnd W e = 3 99E J9E 5 2

W 20 A9 W, TAvE ASH T -7 AL 50% S = # =@Een 32% 79 92 TR 9 T,
T e sfaaoy FHal 1 Tahdl 7., {T-Fqﬂ?{ o 20 = 303’1‘?% H<.rvilliuli .'m‘FP:IT_r—, HEATEFAT 21

Afveem fafmin # figea =1 70 zan? Sfi-7 mgi 1 9d 1970 W 1990 == FEw AwEEH H oA 5,
o9 1990 ® ww Y SAfpwiE e s @) falm w8 gant we or S e, 9 e e
THF HERET 20 6 AT SE—6 F Thd 7 F THH A GFI G| SE-6 H =H, H, qEE, s,
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Given helow are two statements :

Statement I :  Globalization 2.0 began after World War-T and ended around 1990
Statement 1T :  Globalization 2.0 zaw the establishment of UN-IMF and World bank

In the light of the above statements. chooze the correct answer from the options given helow :



= =1 weE fem o

Fu [:  OUHTE 2.0 W99 379 25 F 9 AW TAT H#T 1990 F AH-UE TEH 7

FoAIL: v 2.0 JOA-E TR UF A7 @ A 6 T 6 e =

IU FUA AR H, A e et § J A 39 H =he i

[Question ID = 917][Question Description = 192_02_Political_Science_0CT22_Q92]

1.

3)

Both Statement I and Statement IT are true
#4131 I oF 97 7

[Option ID = 3665]

. Both Statement I and Statement IT are false

=z I 30 Il =M =4 7

[Option ID = 3666]
Statement I 1s true but Statement I1 1s false

Fo 157 7, =1 %4 L7 =

[Option ID = 3667]
Statement I 1s false but Statement IT 1= true

Foe [ Tea 2, A 0 0T 7

[Option ID = 3668]

Read the passage and answer the guestions :

The theme of the World Economiec Forum's Annual Meeting 2019, held in Davos was
Globalization 4.0. Globalization 1.0 started in 1820 and ended at the starting of World War -1.
Globalization 2.0 began after World War-II and ended arcund 1990. These two are called old
globalization. Old globalization was especially beneficial to today’s rich nations, The G7 saw
rapid growth of their exports. income. and industry compared to teday's poor nations during
old globahsation. This led to what Kenneth Pomeranz. a historian. calls the Great
Divergence. Globalization 3.0 was termed as new globalization.

This ‘new globalization’. or Globalization 3.0. had dramatically different effects on world
income (GDP) shares. In just 20 vears, the G7 sharve of world GDP plummeted to 50%, and 1ts
share of trade to 32%. This trend. which might be called the ‘Great Convergence'. 1= surely the
dominant economic fact of the last 20 or 30 years.

What happened to the landscape of global manufacturing? The G7 nations lost shave
sradually between 1970 and 1990. followed by an accelerated dechine from 1990, To where did
manufacturing go? Just six developing nations-which we might ecall the TRapdly
Industralizing 6°. or I-6 for short-accounted for almost all of it. The I-6 are China. Korea.
India. Poland. Indonesia and Thailand. It gammed almost 16 percentaze points of world
manufacturing in just 20 vears.

Globalization 4.0 1z dviven by cutting edze new technology hike AT, Cloud Computing etc,
These technologies shrink distances. open up borders and minds and bring people all across
the glohe closer together. These fechnologies are changing the nature of work where no
physical presence of workers will be required. Such workers are termed as telemigrant —
persons who live in another developing country while working for a company located In a
developed country.
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The annual meeting 2019 of World Econommie Forum was held in which of the following
countries

T =1 STEE s =T sa 2010 FEeEs 59 ° 5 e G 7= 4t

[Question ID = 918][Question Description = 193_02_Political_Science_0CT22_Q93]
USA

Z AT

[Option ID = 3669]

2. Britain

3.

4.

[Option ID = 3670]
Bwitzerland

[Option ID = 3671]
Australia

[Option ID = 3672]



4)

Read the passage and answer the gquestions :

The theme of the World Economic Forum's Annual Meeting 2019, held in Davos was
Globalization 4.0. Globalization 1.0 started in 1320 and ended at the starting of World War -1.
Glohalization 2.0 began after World War-1I and ended around 1990. These two ave called ald
globahization. Old globahization was especially beneficial to today’s mich nations, The G7 saw
rapid growth of their exports. income. and industry compared to teday’s poor nations during
old globahzation. Thizs led to what Eenneth Pomeranz. a historian. calls the Great
Divergence, Globalization 3.0 was termed as new globalization.

This ‘new globalization’. or Globalization 3.0. had dramatically different effects on world
inconie (GDP) shares. In just 20 vears, the G7 shave of world GDP plummeted to 50%, and 1t
share of trade to 32%. This trend. which maght be called the ‘Great Convergence’. 15 surely the
dominant economic fact of the last 20 or 30 years,

What happened to the landscape of global manufacturing? The GT7 nations lost share
gradually hetween 1970 and 1990, followed by an accelerated dechinie from 1990, To where did
manufacturineg o? Just six developing nations-which we might call the TRapdly
Industrializing 6°. or I-6 for short-accounted for almost all of it. The I-6 are China. Korea.
India. Poland. Indonesia and Thailand. It gamed almost 16 percentaze points of world
manufacturing in just 20 years.

Globalization 4.0 1z driven by cutting edze new technology like Al Cloud Computing etc,
These technologies shrink distances. open up borders and minds and bring people all across
the globe closer together. These technologies are changing the nature of work where no
physical presence of workers will be required. Such workers are termed as telemisrant —
persons who live in another developing country while working for a company located in a
developed country.
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Mateh Last I with Tast IT :
List I TastIT
(A) 16 (D) Traly
(B} Glohalizatzon 3.0 (I) Glohalization 4.0
(Cy G7 (ITT} China
(D) Emeregence of Remote working (IV) New globalization

Choose the correct answer from the options given helow :
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[Question ID = 919][Question Description = 194_02_Political_Science_0CT22_Q94]

1.

2.

3.

4.

5)

(AT, (B)-(IL). (C)-(D). (DH-(IV)

[Option ID = 3673]
(A, (BiAIV), (C)-(II1). (D)-(IT)

[Option ID = 3674]
(A)-(ITL), (B)-(IV). (C)-(I). (D)-(IT)

[Option ID = 3675]
{(A)-(I), (By-(1L), (C)-(IV). (D)-(I1T)

[Option ID = 3676]

Read the passage and answer the guestions :

The theme of the World Economic Forum's Annual Meeting 2019, held in Davos was
Globalization 4.0. Globalization 1.0 started in 1820 and ended at the starting of World War -1.
Globalization 2.0 began after World War-II and ended around 1990. These two are called old
globalization. Old globahzation was especially beneficial to today’s rich nations, The G7 saw
rapid growth of their exports. income. and industry compared to teday’s poor nations during
old globahszation. This led to what Kenneth Pomeranz. a historian. calls the Great
Divergence, Globalization 3.0 was termed as new globalization.

This ‘new globalization. or Globalization 3.0. had dramatically different effects on world
inconie (GDP) shares. In just 20 years, the G7 sharve of world GDP plummeted to 50%. and 1its
share of trade to 32%. This trend. which maght be called the ‘Great Convergence’. 15 surely the
dominant economic fact of the last 20 or 30 years,

What happened to the landscape of global manufacturing? The GT7 nations lost share
gradually hetween 1970 and 1990. followed by an accelerated dechne from 1990, To where did
manufacturing zo? Just six developing nations-which we might ecall the TRapdly
Industrializing 6°. or I-6 for short-accounted for almost all of it. The I-6 are China. Korea.
India. Poland. Indonesia and Thailand. It gamed almost 16 percentaze points of world
manufacturing in just 20 years.

Globalization 4.0 iz driven by cutting edze new technology like Al Cloud Computing ete.
These technologies shrink distances. open up borders and minds and bring people all across
the globe closer together. These technolozies are changing the nature of work where no
physical presence of workers will be required. Such workers are termed as telemisrant —
persons who live in another developing country while working for a company located in a
developed country.
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The term "Telemigrants’ 1s related to globalisation
[Question ID = 920][Question Description = 195_02_Political_Science_0CT22_Q95]

1. 1.0

[Option ID = 3677]
2. 9.0

[Option ID = 3678]
30

[Option ID = 3679]
440

[Option ID = 3680]
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1) Read the following passage and answer guestion :

Good governance has 8§ major characteristics. It 1z participatory. comsensus oriented.
accountable. fransparent. responsive. effective and efficient. equitable and inclusive and
follows the rule of law. It assures that corruption is minimized. the views of mineorities are
taken into aceount and that the voices of the most vulnerabls in sociefy are heard in decision-

malking. It iz also responsive to the present and future needs of society.

Participation by both men and women 1s a key cornerstone of good governance. Participation
could be either direct or through legitimate intermediate institutions or representatives. It is
important to point out that representative democracy does not necessarily mean that the
concerns of the most vulnerable in society would be taken into consideration in decision
making. Participation needs to be informed and organized. This means freedom of association
and expreszsion on the one hand and an orgamzed civil society on the other hand.

Good governance requives fair legal frameworks that are enforced impartially. It also requires
full protection of human rights, particularly those of muinorties, Impartial enforcement of laws
requires an independent judiciary and an imparfial and incorruptible police force.

Tranzparency means that decisions taken and thelr enforcement are done in a manner that
follows rulez and regulations, It also means that information 1= freely availahle and directly
accessible to those who will be affected by such decisions and thewr enforcement. It also means
that enough information iz provided and that it 1z provided in easily understandable forms

and media.

Good governance requires that institutions and processes 1y to serve all stakeholders within
& reasonable time-frame. There are several actors and as many view points In a given soelety.
Good governance requires mediation of the different interests in fociety to reach a broad
consenses 1n society on what is in the best interest of the whole community and how this can
be achieved. It also requires a broad and long-term perspective on what 15 needed for
sustainable human development and how to achieve the goals of such development: This can
only result from and understanding of the historical, cultural and social contexts of a given
Soclety or community,

A soclety’s well being depends on ensuring that all its members feel that they have a stake in
it and do not feel excluded from the mainstream of society. This requires all zroups.

particularly the most vulnerables. have opportunities to improve or maintain their well being,

Good governance means that processes and institutions produce results that meet the needs
of soclety while making the best use of resources at their disposal. The concept of efficiency in
the context of good governance also covers the sustainable use of natural resources and the
protection of the environment.
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Which among the following charactersistics 1s/are related to Good Governance
(A) Fair legal frameworks

(B) Impartiality

(C)  Protection of Minorties

(D) Centralised judiciary syvstem.

Choose the correct answer from the options given below :
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[Question ID = 921][Question Description = 196_02_Political_Science_0CT22_Q96]
1. A C.D Only

Fa A C. D

[Option ID = 3681]
2. B, C.D Only

a7 B.C. D

[Option ID = 3682]
3. A B. COnly

Fa5 A B. C

[Option ID = 3683]
4 A B.C.D
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[Option ID = 3684]



2) Read the following passage and answer guestion :

Good governance has 8§ major characteristics. It 1z participatory. comsensus oriented.
accountable. fransparent. responsive. effective and efficient. equitable and inclusive and
follows the rule of law. It assures that corruption is minimized. the views of mineorities are
taken into aceount and that the voices of the most vulnerabls in sociefy are heard in decision-

malking. It iz also responsive to the present and future needs of society.

Participation by both men and women 1s a key cornerstone of good governance. Participation
could be either direct or through legitimate intermediate institutions or representatives. It is
important to point out that representative democracy does not necessarily mean that the
concerns of the most vulnerable in society would be taken into consideration in decision
making. Participation needs to be informed and organized. This means freedom of association
and expreszsion on the one hand and an orgamzed civil society on the other hand.

Good governance requives fair legal frameworks that are enforced impartially. It also requires
full protection of human rights, particularly those of muinorties, Impartial enforcement of laws
requires an independent judiciary and an imparfial and incorruptible police force.

Tranzparency means that decisions taken and thelr enforcement are done in a manner that
follows rulez and regulations, It also means that information 1= freely availahle and directly
accessible to those who will be affected by such decisions and thewr enforcement. It also means
that enough information iz provided and that it 1z provided in easily understandable forms

and media.

Good governance requires that institutions and processes 1y to serve all stakeholders within
& reasonable time-frame. There are several actors and as many view points In a given soelety.
Good governance requires mediation of the different interests in fociety to reach a broad
consenses 1n society on what is in the best interest of the whole community and how this can
be achieved. It also requires a broad and long-term perspective on what 15 needed for
sustainable human development and how to achieve the goals of such development: This can
only result from and understanding of the historical, cultural and social contexts of a given
Soclety or community,

A soclety’s well being depends on ensuring that all its members feel that they have a stake in
it and do not feel excluded from the mainstream of society. This requires all zroups.

particularly the most vulnerables. have opportunities to improve or maintain their well being,

Good governance means that processes and institutions produce results that meet the needs
of soclety while making the best use of resources at their disposal. The concept of efficiency in
the context of good governance also covers the sustainable use of natural resources and the
protection of the environment.
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Identify the major characteristes of Good Governance.

(A) Inclusiveness
(B) Transparent and responsive
() Elite — Centric

(D) Concentrates on present needs of the society only

Choose the eorrect answer from the options given below :
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1. A B. C Only
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3) Read the following passage and answer guestion :

Good governance has 8§ major characteristics. It 1z participatory. comsensus oriented.
accountable. fransparent. responsive. effective and efficient. equitable and inclusive and
follows the rule of law. It assures that corruption is minimized. the views of mineorities are
taken into aceount and that the voices of the most vulnerabls in sociefy are heard in decision-

malking. It iz also responsive to the present and future needs of society.

Participation by both men and women 1s a key cornerstone of good governance. Participation
could be either direct or through legitimate intermediate institutions or representatives. It is
important to point out that representative democracy does not necessarily mean that the
concerns of the most vulnerable in society would be taken into consideration in decision
making. Participation needs to be informed and organized. This means freedom of association
and expreszsion on the one hand and an orgamzed civil society on the other hand.

Good governance requives fair legal frameworks that are enforced impartially. It also requires
full protection of human rights, particularly those of muinorties, Impartial enforcement of laws
requires an independent judiciary and an imparfial and incorruptible police force.

Tranzparency means that decisions taken and thelr enforcement are done in a manner that
follows rulez and regulations, It also means that information 1= freely availahle and directly
accessible to those who will be affected by such decisions and thewr enforcement. It also means
that enough information iz provided and that it 1z provided in easily understandable forms

and media.

Good governance requires that institutions and processes 1y to serve all stakeholders within
& reasonable time-frame. There are several actors and as many view points In a given soelety.
Good governance requires mediation of the different interests in fociety to reach a broad
consenses 1n society on what is in the best interest of the whole community and how this can
be achieved. It also requires a broad and long-term perspective on what 15 needed for
sustainable human development and how to achieve the goals of such development: This can
only result from and understanding of the historical, cultural and social contexts of a given
Soclety or community,

A soclety’s well being depends on ensuring that all its members feel that they have a stake in
it and do not feel excluded from the mainstream of society. This requires all zroups.

particularly the most vulnerables. have opportunities to improve or maintain their well being,

Good governance means that processes and institutions produce results that meet the needs
of soclety while making the best use of resources at their disposal. The concept of efficiency in
the context of good governance also covers the sustainable use of natural resources and the
protection of the environment.
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A AT 3H FHEY SATC TEH 6 AaET 399 7
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Which amongz the following 1s not related to the concept of efficiency in the context of zood
governance?

Tt 7 @ P G F A § el i 5%eal § HEiad 99 2

[Question ID = 923][Question Description = 198_02_Political_Science_0CT22_Q98]

1.

2.

3.

Protection of enviveninent

[Option ID = 3689]

Sustainable use of natural resources

TR FRE] F1 TGEE I

[Option ID = 3690]

Exclusions from the mainstream of the society



4.

AT I GEAET] § AR

[Option ID = 3691]

Understanding the contexts of society.

[Option ID = 3692]

4) Read the following passage and answer guestion :

Good governance has 8§ major characteristics. It 1z participatory. comsensus oriented.
accountable. fransparent. responsive. effective and efficient. equitable and inclusive and
follows the rule of law. It assures that corruption is minimized. the views of mineorities are
taken into aceount and that the voices of the most vulnerabls in sociefy are heard in decision-

malking. It iz also responsive to the present and future needs of society.

Participation by both men and women 1s a key cornerstone of good governance. Participation
could be either direct or through legitimate intermediate institutions or representatives. It is
important to point out that representative democracy does not necessarily mean that the
concerns of the most vulnerable in society would be taken into consideration in decision
making. Participation needs to be informed and organized. This means freedom of association
and expreszsion on the one hand and an orgamzed civil society on the other hand.

Good governance requives fair legal frameworks that are enforced impartially. It also requires
full protection of human rights, particularly those of muinorties, Impartial enforcement of laws
requires an independent judiciary and an imparfial and incorruptible police force.

Tranzparency means that decisions taken and thelr enforcement are done in a manner that
follows rulez and regulations, It also means that information 1= freely availahle and directly
accessible to those who will be affected by such decisions and thewr enforcement. It also means
that enough information iz provided and that it 1z provided in easily understandable forms

and media.

Good governance requires that institutions and processes 1y to serve all stakeholders within
& reasonable time-frame. There are several actors and as many view points In a given soelety.
Good governance requires mediation of the different interests in fociety to reach a broad
consenses 1n society on what is in the best interest of the whole community and how this can
be achieved. It also requires a broad and long-term perspective on what 15 needed for
sustainable human development and how to achieve the goals of such development: This can
only result from and understanding of the historical, cultural and social contexts of a given
Soclety or community,

A soclety’s well being depends on ensuring that all its members feel that they have a stake in
it and do not feel excluded from the mainstream of society. This requires all zroups.

particularly the most vulnerables. have opportunities to improve or maintain their well being,

Good governance means that processes and institutions produce results that meet the needs
of soclety while making the best use of resources at their disposal. The concept of efficiency in
the context of good governance also covers the sustainable use of natural resources and the
protection of the environment.
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T 1 AUETE E 7| GO F AeY # @ S AFed § UEhE HETSAl S SYEiE SEE S 9=
=1 Fram i A 2

Transparency can't be explained as-

UREEAT F1 SN A B9 H A w2

[Question ID = 924][Question Description = 199_02_Political_Science_0CT22_Q99]

1.

2.

3.

Restricted access to information

[Option ID = 3693]
Decision as per rules and resulations

i N e ps Ut T
BRI CIEP i s s e

[Option ID = 3694]
Incorruptable police force



4.

T I 5

[Option ID = 3695]

Mediation of different Interest in society

[Option ID = 3696]

5) Read the following passage and answer guestion :

Good governance has 8 major characteristics. It 1z participatory. consensus oriented.
accountable. transparent. responsive. effective and efficient. equitable and inclusive and
follows the rule of law. It assurez that corruption iz minimized. the views of minoritiez are
taken into account and that the voices of the most vulnerabls in society are heard in decision-
malking. It is aleo responsive to the present and future needs of society.

Participation by both men and women 1s a keyv cornerstone of good governance. Participation
could be either direct or through legitimate intermediate instifutions or representatives, It is
important to polnt out that representative democracy does not necessarily mean that the
concerns of the most vulnerable in society would be talken into consideration in decision
making. Participation needs to be informed and organized. This means freedom of association
and expression on the one hand and an orgamzed civil society on the other hand.

Good governance requives fair legal frameworks that are enforced impartially. It also requires
full protection of human rights, particularly those of minorties. Impartial enforcement of laws
requires an independent judiciary and an imparfial and incorruptible police force.

Transparency means that decisions taken and their enforcement are done In a manner that
follows rules and regulations, It also means that information 1= freely availabhle and directly
accessible to those who will be affected by =uch decisions and thenr enforcement. It alzo means
that enough information 1s provided and that 1t 1= provided in easily understandable forms
and media.

Good governance vequires that institutions and processes try to serve all stakeholders within
& reasonable time-frame. There are several actors and as many view points in a given soclety.
Good governance requires mediation of the different interests in society to reach a broad
consenses 1n society on what is in the best interest of the whole community and how this can
be achieved. It also requires a broad and long-term perzpective on what 1= needed for
sustainable human development and how to achieve the goals of such development: This can
only result from and understanding of the historical, cultural and social contexts of a given
soclety or commumnity.

A society’s well being depends on ensuring that all its members feel that they have a stake in
it and do not feel excluded from the mainstream of society. This requires all zroups.

particularly the most vulnerables. have opportunities to improve or maintain their well being.

Good governance means that proeesses and institutions produce results that meet the needs
of society while making the best use of resources at their dispozal. The concept of efficiency in
the context of good governance also covers the sustamnable use of natural resources and the
protection of the environment.
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Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason B,
Assertion (A) : Participation needs to be informed and organized
Reasoning (R) :  Representative democracy does not mean that the most vulnerable mn

the society will be part of decision making.

In the ight of the above statements. choose the correct answer from the optlons given below :



Hr= 71w o 2 vk sigEee (Assertion (A)) % =9 A feiEa # A1 5H 39F F00 (Reasons (R))

FETH :
AtaFT (A) ; ﬁmﬁ?:rﬁdqfad i FlEs =T TSR]
M (R) AAHEATF =rad 1 SA9IE T TA 2 F W = gEe 1 60 w1 S

IO WU AR H, A= 0 0 S 5 d TR 39 S =9 e

[Question ID = 925][Question Description = 200_02_Political_Science_0CT22_Q100]
1. Both (A) and (R) are true and (R) is the correct explanation of (A)

(A} 377 (R) 71 59 2 36 (R). (A) 1 551 =we 2|

[Option ID = 3697]
2. Both (A) and (R) are trize but (R) is NOT the correct explanation of (A)

(A) 51 (R) ZH1 879 7, =1 (R). (A) = =8l =ams 91 =

[Option ID = 3698]
3. (A} is true but (R) is false

(A) T3 2, =% (R) 30 7

[Option ID = 3699]
4. {A)1s false but (R) is true

(A) 375 7, == (R) &7 9 7

[Option ID = 3700]

Topic:- GP_UGCNET_110CT_SH1_S1_A

1) Consider the following table which shows the total number of seats in each college in bracket
and the number of students admitted to different streams in a particular yvear. Based on the

data in the table answer questions 1- 5:

College
College | College | College | College
Stream W x ¥ z
(500) (500) | (1000) | (1000)
Science 100 150 350 300
Art 100 100 300 360
Engineering 50 50 150 150
Medical 150 50 50 100




Frfifias mifean w fram = fomil B fagm ad = fao 9 4 gos Fea 6 @9 6 50 den §ud 2
At A fafo= garmai | vam o4 el fenfdar fiamnd nd 21

Alfeta & 32 & IMOTIHE H, 155 T &

EE

FIAS | FTS | FEE | FEE
TFE W X ¥ e
' (500) | (500) | (1000) | (1000)
fama 100 | 150 | 330 300
F 100 | 100 | 300 | 350
wigaifaf | 50 50 150 150
ferferean 150 | &0 50 100

In which stream the number of admitted students is highest?
(1) Medical (2) Science
(3) Arts (4} Engineering

~ .

form H=rra o waryr &9 Jret faenieda) ) s sfagag 27
(1) fafwm 2 FEm
(3) & (4) st

[Question ID = 1316][Question Description = 101_00_General_15_0CT22_Q01]
1. 1 [Option ID = 5261]
2. 2 [Option ID = 5262]
3. 3 [Option ID = 5263]
4. 4 [Option ID = 5264]

2) Consider the following table which shows the total number of seats in each college 1n bracket

and the number of students admitted to different streams in a particular vear. Based on the
data in the table answer questions 1- 5:

College
College | College | Callege | College
Stream W x y z
(500) (500) | (1000) | (1000)
Science 100 150 350 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 50 50 100




f=ferfiaa @i W e 1 e B fagm ad & foo a8 g e 1 @i 6 $a gen § 5 2
At A fafo= garmai | vam o4 el fenfdar fiamnd nd 21

Alfeta & 32 & IMOTIHE H, 155 T &

FTela

FIAS | FTS | FEE | FEE
TFE W X ¥ e
' (500) | (500) | (1000) | (1000)
fama 100 | 150 | 330 300
Fel 100 | 100 | 300 | 350
wigaifaf | 50 50 150 150
ferferean 150 | &0 50 100

What 1s the percentage of vacant seats?
(1) 17.66 (2) 15.66
(3) 14.22 (4) 16.67

e HT2] =1 sferareren == 27

(1) 17.66 (2) 1566
(3) 14.22 (4) 16.67

[Question ID = 1317][Question Description = 102_00_General_15_0CT22_Q02]
1. 1 [Option ID = 5265]
2. 2 [Option ID = 5266]
3. 3 [Option ID = 5267]
4. 4 [Option ID = 5268]

3) Consider the following table which shows the total number of seats in each college in bracket
and the number of students admitted to different streams in a particular year. Based on the
data in the table answer questions 1- 5:

College
College | College | College | College
Stream W X ¥ z
(500) (500) | (1000) | (1000)
Science 100 150 350 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 50 50 100




Frfifias mifean w fram = fomil B fagm ad = fao 9 4 gos Fea 6 @9 6 50 den §ud 2
At A fafo= garmai | vam o4 el fenfdar fiamnd nd 21

Alfeta & 32 & IMOTIHE H, 155 T &

EE

FIAS | FTS | FEE | FEE
TFE W X ¥ e
' (500) | (500) | (1000) | (1000)
fama 100 | 150 | 330 300
F 100 | 100 | 300 | 350
wigaifaf | 50 50 150 150
ferferean 150 | &0 50 100

What is the ratio of students admitted to science stream and engineering stream?
(1) 9.4 (2) 7T:4
(3 11:5 {4y 9:5

Terstra |enr ofn sl Ao 4 wEe o Jre Frnida e s e 27

(1) 9:4 (2) 7:4
(3) 11:5 4 9:5

[Question ID = 1318][Question Description = 103_00_General_15_0CT22_Q03]
1. 1 [Option ID = 5269]
2. 2 [Option ID = 5270]
3. 3 [Option ID = 5271]
4. 4 [Option ID = 5272]

4) Consider the following table which shows the total number of seats in each college in bracket

and the number of students admitted to different streams in a particular vear. Based on the
data in the table answer questions 1- 5:

College
College | College | College | College
Stream W X ¥ z
(500) (300) | (1000) | (1000)
Science 100 150 360 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 50 50 100




Frfifias mifean w fram = fomil B fagm ad = fao 9 4 gos Fea 6 @9 6 50 den §ud 2
At A fafo= garmai | vam o4 el fenfdar fiamnd nd 21

Alfeta & 32 & IMOTIHE H, 155 T &

EE

FIAS | FTS | FEE | FEE
TFE W X ¥ e
' (500) | (500) | (1000) | (1000)
fama 100 | 150 | 330 300
F 100 | 100 | 300 | 350
wigaifaf | 50 50 150 150
ferferean 150 | &0 50 100

What 1s the percenteage of students admitted to Medical stream among the total number of
admizsions of the college?

(1) 13 2 15
@ 14 4 16

FTErE o e T 4 el g U gaw o arel e w5 sfaem s 2t

(1 13 (2 15
(3 14 (4 16

[Question ID = 1319][Question Description = 104_00_General_15_0CT22_Q04]
1. 1 [Option ID = 5273]
2. 2 [Option ID = 5274]
3. 3 [Option ID = 5275]
4. 4 [Option ID = 5276]

3) Consider the following table which shows the total number of seats in each college 1n bracket

and the number of students admitted to different streams in a particular vear. Based on the
data in the table answer questions 1- 5:

College
College | College | Callege | College
Stream W x ¥ z
(300) | (500) | (1000) | (1000)
Science 100 1560 360 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 50 50 100




f=ferfiaa @i W e 1 e B fagm ad & foo a8 g e 1 @i 6 $a gen § 5 2
A7 e feafor= wam g o o ol faenfdan i apen € nd 2

Alfeta & 32 & IMOTIHE H, 155 T &

FTela

FIAS | FTS | FEE | FEE
o i x ¥ e
' (500) | (500) | (1000) | (1000)
femma 100 | 150 | 350 | 300
F 100 | 100 | 300 | 350
wigaifaf | 50 50 150 150
IEIET=:] 150 | &0 50 100

What is the average number of Arts students admitted to each college?
(1) ~ 214 2) ~218
(3) ~ 216 (4) ~217
(1) ~ 214 (2)y ~212
(3) ~21H (4 ~217
[Question ID = 1320][Question Description = 105_00_General_15_0CT22_Q05]
1. 1 [Option ID = 5277]
2. 2 [Option ID = 5278]

3. 3 [Option ID = 5279]
4. 4 [Option ID = 5280]

Topic:- GP_UGCNET_110CT_SH1_S1_B



1)

Match List I with List IT :

Last I
(A) Mind Maps

(B) Gamifications
(C) Flipped Classrooms

(D) ICT based teaching method

Last IT
(I Allow student to explore the lesson
before the teacher describes

(IT) Virtual Reality
(ITI) Use of self-learning tools

(IV) Learning through using quizzes

Choose the correct answer from the options given below :

(1) (A0, (B)-(II), (C)-IID), (D)-(TV)
(2) (A)-OV). B)-0). (C)-(I1D), (D)-(ID)
(3) (A, (B)-(IV). (C)-(I). (D)-(IT)
(4) (A)-(ID), (B)-(I1D). (C)-(IV). (D)-(I)

11 % A4 g1 fgem Fifao

(A)

(B)
(©)
(D)
4=
(1)
(2)
(3)
)

iR

g4: fam

difeEas=
Fearfyd (foome) e

ICT swentra foem uzfa

fev o fawedi 4 | w8 397 &1 999 Fifao .

(AND), (B)-(I1), (C)-(III), (D)-(IV)
(A)-(IV). (B)-(1). (C)-(ID). (D)-(1L)
(A)-(I). (B)-(IV). (C)-{I). (D)-(1D)
(A)-(1ID). (B)-(ILL). (C)-(IV). (D)-(I)

11T

(D P 6 smen & qd faefl @ o %
sr=rqur <1 3l

(IT)  weffaum areafaee

(II) ¥ T 9601 1 J9E0]

(IV) woreaft (fs) & awam g =g

[Question ID = 1321][Question Description = 106_00_General_15_0CT22_Q06]

A W N -

1 [Option ID = 5281]
2 [Option ID = 5282]
3 [Option ID = 5283]
4 [Option ID = 5284]



2)  Match List I with List I :

(A)

(B)

(€

ListI
Formative Evaluation

Placement Evaluation

Summative Evaluation

(D) Diagnostic Evaluation

(D

(II)

(ILT)

(IV)

List IT
The purpose 1= to check the aptitude of
a candidate for the course or subject.

Entrance exam can be conducted for
the same.

It provides the student with feedback
regarding his/her success or failure in
attaining the instructional objectives.
Thas evaluation provides an
explanation for the possible causes for
problems in learning.

It is a method of judging the worth of a

programme at the end of programme
activities.

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

A1 %

(A)-(I). (B)-(ID. (C)-(I1L). (D)-(IV)
(A)-(TII). (B)(I). (O)-(ID). (D)-«(IV)
(A)-(IL). (B)-(I), (C)-(IV). (D}-I1I)
(A)-(IV), (B)-D), (C)-(I). (D)«I1T)

|1y q=-11 %1 e S

e,

(A)  TEATHE YodidA

(B) AT

(C) HFeHdS JedH

(D)  TOENTHE Yedisha

g4 fen
(1)
(2)
(3)
(4)

e fadedi 4 # HE L B =TI hifAu .
(A)-(0). (B)-(II). (C)-IL). (D)-(IV)
(A)-(IIT). (B)-(I). (C)-(I1), (D)-IV)
(A)-(ID). (B)-(D), (C)-(IV), (D)-(1ID)
(A)-(IV). (B)-(II), (C)-(I), (D)-(IID)

{111

magFs wua favs & fau sepdi &
sfiwa &1 o o s 329 ) 3 &
feu wers) wften seel 1 w2

4 HEe AU HAHA 79 % qaw g ufagfe
qeH HE] E |

g7 YedidA s i guerE & feao
BT RV o1 S4TE YeH il R |

a7 Hr Tiafaiedl % auE 9w
uge % &f 4 ol w3 6 gzf 2

[Question ID = 1322][Question Description = 107_00_General_15_0CT22_Q07]

1. 1 [Optio
2. 2 [Optiol
3. 3 [Optiol
4. 4 [Optio

n ID = 5285]
n ID = 5286]
n ID = 5287]
n ID = 5288]



3)

Which of the following 1s/are the feature/s of Reflective level of teaching?

(A)

(B)

(©)

(D)

(E)

Students learn by understanding the facts and information.
Teaching is nothing but learning the subject by rote.
Development of problem-solving ablity.

The student’s original thinking and creative abilities.

The pupils are kept 1n strict disciphines and eramming 1s insisted.

Choose the correct answer from the options given below :

(1)

(3)

(B) and (C) only (2) (D) and (E) only

(A) and (B) only (4y (C)and (D) only

Frrierfien 4 2w 8 T faad s ) Eemau 27

(A)

(B)

(C)

(D)

(E)

Tl Ao 2w g1 1 HuE # ogw v 2

farer =1 724 & gwn #fivaa % sefafen e e = 2
HUF-HATTH 3 1 A & fa |

Taamdi <1 ifera dr= 30 =T 9rn |

ferenefi 3 sAwIEH | 76 ST @ H10 T WoAR e |

41 fau v famem 08 =2 39 6 = At .

(1)

(3)

Fad (B) 31 (C) (2) %ad (D) 38 (E)

HAA (A) 31T (B) (4) A (C) 371 (D)

[Question ID = 1323][Question Description = 108_00_General_15_0CT22_Q08]
1. 1 [Option ID = 5289]
2. 2 [Option ID = 5290]
3. 3 [Option ID = 5291]
4. 4 [Option ID = 5292]



4 T con B ; g A
) Put the following 1n correct sequence in the hght of process of Evaluation systems.

(A) Development and use of measurement instruments.

(B) Interpretation of Data.

Q) Setting objectives and eriterion.

(D) Formulation of judgements and taking of appropriate action.
Choose the eorrect answer from the options given below :

(1 (A). (B). (C). (D) (2) (B) (C). (A), (D)
(3) (C). (A). (B). (D) 4) (A (C). (B). (D)

geaieA saa s o1 ufseen & sreien § Fefofias @ o eu i o
(A) O I R T i I
(B)  @ed o =awem
(C)  F2wai S Fepd] (sEaioas ) o warhyd a1 |
@) i o gfires o shEa FrEia e )
1 T o faereadi 0 A /1 397 o1 =994 e

(1 (A (B). (C). (D) (2) (B (C). (A). D)
(3) (C). (A, (B), (D) (4) (A (C). (B). (D)

[Question ID = 1324][Question Description = 109_00_General_15_0CT22_Q09]
1. 1 [Option ID = 5293]
2. 2 [Option ID = 5294]
3. 3 [Option ID = 5295]
4. 4 [Option ID = 5296]

5) In which of the learner-centered methods students arve first presented with challenges?
(1) Selflearning (2) Active learning
(3 Inductive teaching and learning (4) Cooperative learming

frrferfiaa o & fam foranedl f=m fafbei O famrariai & sue gAfaai waqa & adl 27

(1)  =E-whnrm (2) ufrg wfam

(3)  wwETEdE faew Hn Ao (4) wHEaTES wfemy
[Question ID = 1325][Question Description = 110_00_General_15_0CT22_Q10]
1. 1 [Option ID = 5297]
2. 2 [Option ID = 5298]

3. 3 [Option ID = 5299]
4. 4 [Option ID = 5300]

6)  What is the full form of MLA' as a referencing style?

(1) Machine Language Adaptation (2) Modern Language Association
(3) Management Language Authority (4) Mainstream Lanzuage Association

dad dieft (Fkfi) % =9 8§ MLA %1 0 @ 27

(1)  urs s u2esH (2) wred s vEiuee
B) e viEe weiid (4) TFEfy des vEfaeE

[Question ID = 1326][Question Description = 111_00_General_15_0CT22_Q11]
1. 1 [Option ID = 5301]
2. 2 [Option ID = 5302]
3. 3 [Option ID = 5303]



4. 4 [Option ID = 5304]

7) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A):  Qualitative research is guided by positivistic epistemology
Reason (R) : The aim of quantitative research is only to test hypothesis.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (4)
(3) (A) 1s correct but (R) 1s not correct

(4) (A) 1s not correct hut (R) is correct

419 & Fum fen o . v sfiyees [Assertian(ﬂ))"mmﬁfﬁ'ﬁﬁﬁ?ﬁ@ﬁmﬁm{ﬂeasun

R) F =9 Y ;
HAYFET (A) : afcamorrayes e geEard) A # fen-fefm s 2
HHUl (R) qfrgiITeer 914 1 3299 dhdel YTEeSAl &1 THET HE 2

YT U & e O, = foun e fasedi O § gad 3uge I T difa

(1) (A) 3 (R) 21 77 2 31 (R), (A) 6 Wl = 2

@) (A 3 ®) 21w 2, wfE R, (A) H H s 4 2
(3 (A FA R, i ®) 9d T 2

@) (A wE FE 7, offda (R) 74 2

[Question ID = 1327][Question Description = 112_00_General_15_0CT22_Q12]
1. 1 [Option ID = 5305]
2. 2 [Option ID = 5306]
3. 3 [Option ID = 5307]
4. 4 [Option ID = 5308]



8) @Given below are two statements :

Statement I : In present time, researchers prefer to write research papers over
writing a meonegraph.
Statement 11 :  Monographs and books are not included in the data base of research.

In the hight of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct
(& Both Statement I and Statement I1 are incorrect
(3) Statement I 12 correct but Statement I 1s incorrect

{4y Statement I iz incorrect but Statement IT is correct

= @1 e[ fau e 2 .

#e[d T:  FduE |99 O s gears fergs @ s sy a TemEan ghe w2

d9d IL: 919 o 21 &8 °§ gHus 3 gk aifea 395 2)
i G & et 8, A fou e fawedi 4 & q98 3 s o 9 difan

(1) @&9A 136 e =8 2
(2 wEA I 3R I A e 2
(3)  wYA I 2, A e a2
(4)  weF 17ed B, dfea wya a2

[Question ID = 1328][Question Description = 113_00_General_15_0CT22_Q13]
1. 1 [Option ID = 5309]
2. 2 [Option ID = 5310]
3. 3 [Option ID = 5311]
4. 4 [Option ID = 5312]



9)
Chven below are two statements :

Statement I: Field notes are important for prompting the ethnographer’s memory and
form much of the data for subsequent analysis.

Statement II: Research methods such as qualitative interviewing are flexible, and are less
disruptive of the work and personal Lives of both researchers and research
participants.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I1 are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement IT 1s incorrect

(4) Statement I is incorrect but Statement IT 1s correct
A A g faomd .

FoH () ;@3 feoaforr g=fa avesd #1 w3 w1 sgataa #91 * fom gempl 2 s s faverm =
Tz =01 sifufe am e 2 )
e (I0) :  7TTesieh HTese S 911a wgfoal 45T el § =i snusrdis] vd si sfawrfe aqi &+

I FAA ok AT 8, = e o faeredi @ | wad 3w e A il -

(1)  FH9 Isip OEETEa3 |
(2) FoE 130 [ SET T4 7 |
(3) R I9A 2, cfFA FeR I TEm 2 |

(4)  Fed Ied 2, el e TTEA 2 |

[Question ID = 1329][Question Description = 114_00_General_15_0CT22_Q14]
1. 1 [Option ID = 5313]
2. 2 [Option ID = 5314]
3. 3 [Option ID = 5315]
4. 4 [Option ID = 5316]



1 Which among the following are examples of personal documents; for the purpose of sources
of data?
(A) Diaries
(B) Mass media outputs
(C)  Letters
(D)  Autobiographies

(E) Company documents

Choose the most appropriate answer from the options given below :
(65] (A). (B). (C) only (2)  (A). (C). (E) only
(3 (A). (C), (D) only 4) (B (C). (D) only

freferfiaa | 14 @ & i F 3299 % fem safamma o & sepm 2 7
(&) Al (zad)

®) Stz fim (o)

© m

(D)  sTeEdm

(E) T
4 Tau e O | w7 39 @ w9 i
(1)  #a4 (A), (B). (C) (2) 47 (A). (C). (E)

(3) & (A). (C). (D) (4) 3@ (B), (O). (D)

[Question ID = 1330][Question Description = 115_00_General_15_0CT22_Q15]
1. 1 [Option ID = 5317]
2. 2 [Option ID = 5318]
3. 3 [Option ID = 5319]
4. 4 [Option ID = 5320]

11)
In terms of communication, most online platforms of teaching and learning are :
(1) Synchronous (2) Asvnchronous
(3) (One-to-none (4) Tied to specific timeframe

T 1 g0 A e i st o st siene wew F

(1)  deskiicrk (2) sl
(3) U FIEIE A% (4) fafam aumdio 4 95

[Question ID = 1331][Question Description = 116_00_General_15_0CT22_Q16]
1. 1 [Option ID = 5321]
2. 2 [Option ID = 5322]
3. 3 [Option ID = 5323]
4. 4 [Option ID = 5324]



12)

Which of the following are barrmers to acceptance of communicated messages?
(A) DBodylanguage with positive vibes

(B)  Attitude of the listener

{C) Values of the decoder

I Status clash

(E) EKnowledge stimuli

Choose the correct answer from the options given below :
(I} (A (B). (C)only (2) (B). (C), (D) only

(3  (C). (D). (E) only @) (A). (D). (E) only

Fe=ferfiad 0 A i Fufvd 397 &1 a0 s a7

(A)  HEETEEE ST arel i e

(B) vl gty

(C)  fau®as & g

D) oz

(E) FHIEMH

=t fau e Fasrel 0 & a2 399 %1 =2 i

(1) = (A), (B), (©) (2) #A (B), (C). (D)
(3)  #HF (C). (D). (E) @) FF (A). D), (E)

[Question ID = 1332][Question Description = 117_00_General_15_0CT22_Q17]
1. 1 [Option ID = 5325]
2. 2 [Option ID = 5326]
3. 3 [Option ID = 5327]
4. 4 [Option ID = 5328]



13)
Given below are two statements :

Statement I: Western concepts focus on wholeness and unity of communication.

Statement IT: Non-Western communication concepts have the strong central idea
of individualism.
In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
{(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement IT 1= false

(4) Statement I is false but Statement I 1= true

d @ e fqum g .

FoA (@) ;T SR =@yl i s v 91 e i e
FA (1) ;T —rraTed Jigw Ahrarn s § sfFEs 5 vead F2a aE S f |
IV T o e 4, J19 feu o el O 8 a6l 3 g8 Fifa -

(1) FIziRIEdigas)

(2) #9431 3R [ &H 559 & |

(3)  #wA 14™ 2, A %94 I 597 2 |

(4) FRIAFAD, A FA AAA |

[Question ID = 1333][Question Description = 118_00_General_15_0CT22_Q18]
1. 1 [Option ID = 5329]
2. 2 [Option ID = 5330]
3. 3 [Option ID = 5331]
4. 4 [Option ID = 5332]



14)
As per the New London Group, the five modes of communication in sequence are ;

(A)  Linguistic
(B)  Visual

(C)  Aural

(D) Gestural

(E) Spatial

Choose the correct answer from the options given below :

(L) (A, (B), (C), (D). (E) (2) (B). (C), (D), (E). (A)

(3) (C). (D). (E). (A). (B) 4) (D). (E). (A). (B). (C)

94 1EA HYR % AT FHE F4 HHYW F 0= = E

(A) =TT

B

(© ==

(D) HehdATY

(E)

94 fau m famed O | w5 39 = =ae ifsu

(1) (A), (B). (C), (D), (E) (2) (B), (C), D), (E), (A)
(3) (C). (D). (E). (A). (B) 4y (D). (E). (A). (B). (C)

[Question ID = 1334][Question Description = 119_00_General_15_0CT22_Q19]
1. 1 [Option ID = 5333]
2. 2 [Option ID = 5334]
3. 3 [Option ID = 5335]
4. 4 [Option ID = 5336]



15)

Match List I with List IT :
ListI List IT
Elements of Human Communication Representational Description
(A} People {I) Semanticism
(B) Ideas (IT) ILead to modification of Physical
environment
(C) Noise (ITII) Information processors
(D) Language (IV) Expression of creativity

Choose the correct answer from the options given below :

(1) (A)ID, (B)-ID), (C)-(IV). (D)D)
(2) (A)-(T), (B)-(IT). (C)-(IV). (D)-(III)
(3) (A)-(IV), (B)-(I). (C)«(IIL). (D)-(II)
(4) (A)-(I1I), (B)-(IV), (C)-(ID), (D)-(I)

=i 1 o e g I = fuer ife
g1 11
YT | % el e 2
(A) 0 M weifEEEe
B) fa=n (D) 35A difers T F w2 2
(C) ¥ (47z4) (IIT) H=1 5 ST
(D) umi (IV) TaTeds = sifuasafe

44 o e | 3 ol 397 91 =94 Hif

(L) (A-D. (B)-(IIL). (C)-IV). (D)-(D)
(2) (A)-(D). (B)-(ID). (C)-aV), (D)-1ID)
(3) (A)-(IV). (B)-(). (C)-dID. (D)-(ID
(€ (A)-(III), (B)-(IV), (C)-(ID), (D)-(I)

[Question ID = 1335][Question Description = 120_00_General_15_0CT22_Q20]
1. 1 [Option ID = 5337]
2. 2 [Option ID = 5338]
3. 3 [Option ID = 5339]
4. 4 [Option ID = 5340]

16 3 3
) If 7461 12 coded as 135. then what will be the code for 68937
(1) 151 (2) 161
(3) 179 (4y 152



A4 7461 #1 135 % ¥ ¥ Fzasg gy v 291 71 6893 2 %2 741 &7
(1) 151 (2) 161
(3 179 4) 152

[Question ID = 1336][Question Description = 121_00_General_15_0CT22_Q21]
1. 1 [Option ID = 5341]
2. 2 [Option ID = 5342]
3. 3 [Option ID = 5343]
4. 4 [Option ID = 5344]

17) A clock is set right at 5 AM. The clock loges 16 minutes in 24 hours. What will be the true
time when the clock indicates 10 P.M. on 4% day?
(1) 11 AM. (2) 11P.M

(3 9 P.M.: (4) 10P.M.

U HE ) WE: 5 F9 W gE 92 T w2 24 991 4w w1 16 foae & wif3 w2 ) wm wd 9e
faq oy 10 73 = qum femrd 2, @1 9 9o+ 2

() a1l E (2 WM 119
(3) ufs o3 (4) TIfa 10 @4

[Question ID = 1337][Question Description = 122_00_General_15_0CT22_Q22]
1. 1 [Option ID = 5345]
2. 2 [Option ID = 5346]
3. 3 [Option ID = 5347]
4. 4 [Option ID = 5348]

18) Given below are two statements :

Statement I: If yvou know the length of anv one side of a right angled triangle. the area of
the triangle can be found.

Statement IT: If vou know the length of two sides of a right angled triangle. the length of
the third side can be found.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement [ and Statement 1T are correct

(2) Both Statement I and Statement I are incorrect
(3) Statement I is correct but Statement IT 1z incorrect
(4) Statement T is incorrect but Statement IT is correct

4 71 A fo e E

FoE () AT s Feft s G o v e ) oA 5 2, @ e dre e s g 2

Fed (I0) : afa s forel st Bgw A 1 gensti ft s s &, @ diad gen 6 daE e
BETIEY

T F44 % e 4, A o e Fwedi d | w8 3 % = fif
(1) FeRIFENIIEHIEAR
(2) FoH [ AR [ Ao 2 |
3 #FRIgHE AR TR
(4)  FoH I 2, AfFAF OEd 2
[Question ID = 1338][Question Description = 123_00_General_15_0CT22_Q23]

1. 1 [Option ID = 5349]
2. 2 [Option ID = 5350]



3. 3 [Option ID = 5351]
4. 4 [Option ID = 5352]

19)  Which of the following has the highest value?
(1 157 2 6
(3 27 4) 3

Ffefgn O & frgen gm sifusau 27
(1) 152 (2) 64
(3) 27 (4 3°
[Question ID = 1339][Question Description = 124_00_General_15_0CT22_Q24]
1. 1 [Option ID = 5353]
2. 2 [Option ID = 5354]
3. 3 [Option ID = 5355]
4. 4 [Option ID = 5356]
20) What will be the diameter of a civcle having area equal to that of a square of side 2.0 m?
1) ~1256m (2) ~2257Tm
(3) ~0.88 m (4 ~2718m

UF 2.0 m W F A F AAFA & HAA AR F Tk g9 F) SH = A7

(1) ~1.256m (2) ~225Tm
3 ~08%m (4) ~2718m

[Question ID = 1340][Question Description = 125_00_General_15_0CT22_Q25]
1. 1 [Option ID = 5357]
2. 2 [Option ID = 5358]
3. 3 [Option ID = 5359]
4. 4 [Option ID = 5360]

21)

"The secretaries have asked us to provide lounge areas where they can spend their coffee
breaks. This request will have to be refused. If we give them lounge areas, next they will ask
for spas and swimming pools. Then it will be yvoga centres and fitness gyms. Expenditures for
these facilities will drive us into bankruptey”. Which fallacy 1s committed in the above
argument?

(1) Strawman (2) Hasty generalization

(3) Red herring (4) Slippery slope

Vil 3 wd fAam-sa vgm w2 st 4 3R 576 e o uuy =d@i| 9w g% ) g am R
sy A1 20 | afe w3 Faum - 4 g #, a1 ) 9 g i feafan g o om #3) | iEg &E) e
fobzm Tl 1 win i smwfl | 3 gfawss @ o Fd-5a g a8 s | o a4 | Ea-
adam s 2t

(D) el (=7 84) (2)  fa=rd wra=im
(3) TEEREm (4) TraeHgE e (Femf =)

[Question ID = 1341][Question Description = 126_00_General_15_0CT22_Q26]
1. 1 [Option ID = 5361]
2. 2 [Option ID = 5362]



3. 3 [Option ID = 5363]
4. 4 [Option ID = 5364]

22 -
) iven below are two statements :

Statement I: The intensional meaning consists of the gualities or attmbutes that the term

denotes.

Statement IT: The extensional meaning consists of the members of the class that the term
denotes.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is eorrect but Statement II 1s incorrect

{4) Statement I is incorrect but Statement IT is correct

4 21 g fan o 3 .
w9 ([):  HYEIS 3 92 ST HI48 [0 41 {9t erdi e |
#9q (I0) :  fawea @14 4 va gm Ffde o & qee @49 2 |

T HAA o AT H, T e faeed d & was aqead 3w e il

(1) FUH [AT M EHTHA 2 |
(2) FRIATIMEHITAAT |
(3) R [HE 2, oI e ILTer 2 |

(4) A [ed &, dfe Fem Iad 2

[Question ID = 1342][Question Description = 127_00_General_15_0CT22_Q27]
1. 1 [Option ID = 5365]
2. 2 [Option ID = 5366]
3. 3 [Option ID = 5367]
4. 4 [Option ID = 5368]



23)
Which of the following is true regarding Nvaya view of invariable concomitance?

(A) It iz determined by inductive process of reasoning which corresponds to Mill's method
of agreement and method of difference.

(B) It 1= based on concomitance of affirmatives that wherever a product exists the

material cause thereof exists.

(C)  Itis based on the concomitance of negatives that wherever a material cause does not

exist the product thereof does not exist.

(D) Nyava view of inductive process does not correspond to Mill's method of agreement
and method of difference.

Choose the correct answer from the options given helow :

(1)  (A).(C) and (D) only 2) (B). (C) and (D) only
(3) (B)and (C) only (4) (A), (B) and (C) only

Ffeiaa 0 | #A-4 faa A & =m giEm & G699 1 a0 27

(A) e ek R srraeTenss wiE 3 R 2 2 o e s o] sie S e # gy #a

21
(B)  Tr AfEqar=l & Arg=d 93 v R - o9 w5 o i = siftae @2, 99 2k difas w5
&1 ol syfrees 71 2

(C)  ¥8 SFNTeHH| o Aead T saiE 2 - o wal ot difas s s stfeaes 7@ @, 3@ 359 afom
&1 sfedea Fd Fan 2 |

(D)  smmEEH Uik = gt e ) s g s s g & awen 98 2 |

1= fam o fehed) O | O 3 o =9 Fifan
(1) %A (A), (C) 51 (D) (2) A (B), (C) 31 (D)
(3) FAE (B) 3N (C) (4) A (A), (B) 5 (C)

[Question ID = 1343][Question Description = 128_00_General_15_0CT22_Q28]
1. 1 [Option ID = 5369]
2. 2 [Option ID = 5370]
3. 3 [Option ID = 5371]
4. 4 [Option ID = 5372]



24) If Sneha tampered with the examination script. then she 1s guilty of a crime. Sneha did not
tamper with the examination script. Therefore sneha is not guillty of a crime’. Which fallacy

is committed in the above argument?
(D Fallacy of affirming the antecedent
(2) Fallacy of composition
(3 Fallacy of denying the antecedent
(1 Fallacy of affirming the consequent
“afg e 3 whey fof 1 @2 o2 &t 2, @ 98 390y w93 6 Rt 3 Fa 3 ofign faf 1 szer 734
11 3 TR S i hE A
et e 4 AT Tk 2
(1)  qEadi #i yfasia # & adam
(2) AT F Aher
(8)  Ydadi @l FENA H dham
(4)  ZEd F) Ui e w dehe

[Question ID = 1344][Question Description = 129_00_General_15_0CT22_Q29]
1. 1 [Option ID = 5373]
2. 2 [Option ID = 5374]
3. 3 [Option ID = 5375]
4. 4 [Option ID = 5376]



25)
Given below are two statements :

Statement I: According to Nyava philosophy an argument does not proceed on the issues
that are well established.

Statement I : According to Nyayva philosophy an argument can proceed only on those issues

that are completely and absolutely unknown.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement IT are incorrect
(3 Statement T is correct but Statement IT is incorrect

(4) Statement Iis incorrect but Statement II 13 correct

J= 21 Fem fnomu 2

Fa4 (D) : =7 29 & SR qerior fawe a1 de s 6 s 2

Fo (ID) :  #47T4 7909 o SR oo 9 fad o2 =i o e 2 < pia: o . s )

I A o AT U, A e e 4 A wEs IREe I e i

(1) HFFEIMTOHIEAZE)
(2) FUATHT DA Ted 2 |
(8)  FHIHA 2, AT T LA 2

() I 2, eiferd g T Ed 2

[Question ID = 1345][Question Description = 130_00_General_15_0CT22_Q30]
1. 1 [Option ID = 5377]
2. 2 [Option ID = 5378]
3. 3 [Option ID = 5379]
4. 4 [Option ID = 5380]

26)
What 1s the full form of the acronym CAD and CAM?

(1) Conirol Aided Data and Computer Aided Man

(2) Computer Aided Design and Computer Aided Manufacturing
(3) Computer Aided Design and Computer Aided Maintenance
4) Computer Aided Design and Computer Aided Man



nfcaf #1 v £ (CAD) *iW #i v vy (CAM) = 70 &4 & &7

(1) gl ugz = sin Frge uge iy

(2)  Feger uze faare s sy v igtaaio

(3) =gz vz T 3in gy vgs Uedw

4  FHzussfeme N Ty vEe [/
[Question ID = 1346][Question Description = 131_00_General_15_0CT22_Q31]
1. 1 [Option ID = 5381]
2. 2 [Option ID = 5382]

3. 3 [Option ID = 5383]
4. 4 [Option ID = 5384]

27) Which two of the following tasks are carried out by all operating systems?

(A) Repairing mouse

(B)  Datalogging

(C)  Managing system respurces including memory
(D) Transfering data to printer

(E) Drawingimage

Choose the correct answer from the options given below :
(1) (A} and (D) only (2) (B)and (C) enly
(3)  (C)and (D) only (4) (C)and (E) only

Fferfaa 4 4 #a-4 71 % ad) srafan e g G s 21
(A)  HI3g & e

(B) =@ A

(C)  buf) afee ez dans] &1 gafaad w5

(D) =1 A e A St e

(B) 35 M1

i few T foreedl 6 6 w1 390 1 =59 Fifao

(1)  Fae (A) #in (D) (2) #F=e (B) 31 (C)
(3) Faw (C) 3 (D) 4) F9 (C) 511 (E)

[Question ID = 1347][Question Description = 132_00_General_15_0CT22_Q32]
1. 1 [Option ID = 5385]
2. 2 [Option ID = 5386]
3. 3 [Option ID = 5387]
4. 4 [Option ID = 5388]



28)
The functional components of a digital computer are :

(A) Input Device

(B)  Printer

(C) Central Processing Unit
(D) Memory

(E) Output Device

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) only (2) (A), (D), (E) only
(3) (A). (C). (D). (E) only (4) (C). (D). (E) only
Tefies Frgz & Fious 924 2 -
(&) Iz fzamnm
B o=

(©) et mafan gl
(D) wEi

(B) #7132z fzamem
4 fau m fernedi 4 4 w3 & = il

(I) %4 (A). B). (©). (D) (2) #AEd (A), (D). (E)

(3) A (A). (C), (D), (E) (4) FaE (C), (D). (E)

[Question ID = 1348][Question Description = 133_00_General_15_0CT22_Q33]
1. 1 [Option ID = 5389]
2. 2 [Option ID = 5390]
3. 3 [Option ID = 5391]
4. 4 [Option ID = 5392]



29)
Given below are two statements :

Statement I: Piracy refers to attempts to gain information from otherwize undisclosed

areas.
Statement II: Hacking refers to the unauthorized duplication of computer software,

In the light of the above statements. choose the corrrect answer from the options given

below:

(1) Both Statement I and Statement I are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement IT is false

(4 Statement I is false but Statement II is true

A g e fru
FeA () IR F AR S H A H OHEAT 9T %A s wEnE q 2 )
FoA () ;B 1 A1eTd dege Hivedn £ stagd A5 (gfeea) 42 )

9T F4F = ST 0, J19 2o e famedi 8 19w e o =9a il

(1) ¥ IARIIAIEAE |
() FEIANIIEE ATAE |
(3)  weH 1™ 2, ol F9 [ 5593 2 |

(4) w9 T 30ea e, offehd FoA TTHAa 2 |

[Question ID = 1349][Question Description = 134_00_General_15_0CT22_Q34]
1. 1 [Option ID = 5393]
2. 2 [Option ID = 5394]
3. 3 [Option ID = 5395]
4. 4 [Option ID = 5396]



30)
Given below are two statements ;

Statement I: SWAYAM is Study Web of Active Learning for Young Aspiring Mind.
Statement 1T : SWAYAM is Source With Active Young Aspirational Mindfullness.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement T and Statement IT are correct

(2)  Both Statement I and Statement II are incorrect
(3 Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement IT 1z correct

4 &1 e fau o E -

Foq (D) ;= (SWAYAM) &1 9 9 2 221 91 % Ufdea off-n w7 27 et 5Ee |

#24 (ID) : =94 (SWAYAM) &1 i &9 2 |r fae vfgza gn tfors=a gEasa-H |

394 HA T T 4, 9 2o faeedi 0 3 s 2w I o we fifam

(1) Fe IR MM aFI @91 & |
(2) weEIsEN AT |
(8) FHIUAR AR FFIOTAARI

(4)  =eE LIeE 2, SAfeH e A 2

[Question ID = 1350][Question Description = 135_00_General_15_0CT22_Q35]
1. 1 [Option ID = 5397]
2. 2 [Option ID = 5398]
3. 3 [Option ID = 5399]
4. 4 [Option ID = 5400]



31)
Given below are two statements ; One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Asgertion (A):  Geothermal fluids are rich in =alts and other contaminants such as
hydrogen sulphide (H:S) and oxides of nitrogen (NOx)

Reasons (R) : Thev are reanjected into ground rather than being dumped to river or

ponds.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) i NOT the correct explanation of (A)
(3) (A) is correct but (R) 1s not correct

(4) (A) 13 not correct but (R) 1s correct

=l &1 e Tu 1w B : vsk i (Assertion A) % &9 1 ffiad 2 #1 §59 304 #7171 (Reason R) & &9 4

sfameE (A) H-ATIT A7 a9 31 F1gEI AeEEs (HoS) d Tgai & Al (NOy) 94 5=
g 8 HgE A2 |
® WU (R) : a9 Afed 1 AT 0 F 9 @ g0 4 qq: saan & G 9 F |

P A A Y, = d e e O & das v 39 o 99 fiieu

(1)  (A) 3R (R) 2E1 97 2 37 (R), (A) F1 57 s 2 |
(2) (&) 3N (R) a1 a8 2 SfFA (R). (A) i wdf sapen A8 2
3 (EhEaE @R AR

(4) (A HAFE 2 A (R) TE 2

[Question ID = 1351][Question Description = 136_00_General_15_0CT22_Q36]
1. 1 [Option ID = 5401]
2. 2 [Option ID = 5402]
3. 3 [Option ID = 5403]
4. 4 [Option ID = 5404]

32) )
Which one among the following is not a unit of measurement of surface ozone?

(1) Microgram per meter cube (2) Nanogram per meter cube
(3) Dobson unit {4y Parts per million



feryferfiaa © 4 =t |ae) 20 Fams 1 2 w27
(1) =iz uld 59 Hie (2) g ufd =7 de
(3)  EEEATHEE @) v ufq faferm (g0 @ma)

[Question ID = 1352][Question Description = 137_00_General_15_0CT22_Q37]
1. 1 [Option ID = 5405]
2. 2 [Option ID = 5406]
3. 3 [Option ID = 5407]
4. 4 [Option ID = 5408]

33) Match List T with List IT :
LastI ListII
Water Pollutant Type Example
(A) Toxic Pollutant (I} Chlorine
(B) Nontoxie Pollutant (II) Protozoa
(C) Macroscopic Pollutant (IIT) Benzene
(D) Pathogenic Pollutant (IV) Food cans
Chaoose the correct answer from the options given below :
(1) (A)-(III), (B)-(I). (C)-«(II). (D)-(IV)
(2) (A)-(II0), (B)-T). (C)-(IV), (D)-(ID)
(3) (A)-(IT). (B)-(T}. (C)-(IV), (D)-(I1I)
(4) (A)-(D). (B)-(ID, (C)-(IIL}, (D)-(IV)
HAT-1 % =4 g=-10 o e s
i1 w11
el Wl &l =R K|
(A)  Tawm ugs I & iC
B) - T g D) s
(C) e T55F I =i
(D) TP 9T (IV) uisH & f2sal (52 34)
At T oo 4 5 we 39 a1 = i

(L) (A)-(IID). (B)-(I). (C)-(ID), (D)-(IV)

(2) (A)-(III). (B)-(D). (C)-(IV). (D)-(ID)

(3) (A)-(IT). (B)AI). (C)-(IV). (D)-(ILI)

(4) (A)-(I). (B)-(II). (C)-(IIL), (D}-{IV)
[Question ID = 1353][Question Description = 138_00_General_15_0CT22_Q38]
1. 1 [Option ID = 5409]
2. 2 [Option ID = 5410]

3. 3 [Option ID = 5411]
4. 4 [Option ID = 5412]



34)

Match List I with Last IT

(a)
(B)
(C)
D)

Tast I

Energyv Source

Wind Energy
Thermal Energy
Hydroelectric Energy

Photovoltaic energy

List IT

Environmental Tmpacts
(I) Emi=sion of Green House Gases
(I) Loss of mparian vegetation
(IIT) Hazardous for birds and bats

(IV) Production of toxic wastes

Chooze the correct answer from the options given below :

(1)
2
(3)
(4)

(A)-(IV), (B)-(IID), (C)-D), (D)D)
(A)-IV), (B)-(ID), (C)-(D), (D)-(IID)
(&), (B)-(I), (C)-(IV), (D)-(1L)
(4)-(I10). (B)-(D). (C)-(I1). (D)-(IV)

Tl-1 % "% Hi-IL %1 e Hifau

(A)
(B)
(C)

(D)

9 fe3 o feredi 4 8 AF I #1 WA difau

(4)

L
FA HMA
T A

FeAfrEd Hl

(A)-(IV). (B)-(III). (C)-(ID), (D)-(D
(A)-(IV). (B)-(ID. (C)-(I). (D)-(I1L)
(A)-III), (B)-(I), (C)-(IV), (D)-(II)
(A)-I). (B)-(D), (C)-(D), (D)-(IV)

HHI-IT
TR wHE
(D 1 2139 9 1 39
(I 71 for aofaal 1 &9
(D) gfer sin =mmes] & fou aaems

@v) Foaer spafrEl @ e

[Question ID = 1354][Question Description = 139_00_General_15_0CT22_Q39]
1. 1 [Option ID = 5413]
2. 2 [Option ID = 5414]
3. 3 [Option ID = 5415]
4. 4 [Option ID = 5416]



35)

Match List I with List IT
List I ListIT
Hazardous Waste Explanation

(Ay Flst (I} Hazardous wastes from specific
industrial processes

B) Klst (II) Discarded chemicals exceeding
25 kilograms per month

(C) P-hst (III) Hazardous wastes from non-specific
sources

Dy Uhst (IV) Discarded chemicals exceeding
1 kilogram per month

Choose the correct answer from the options given below :

(1) (A)-III), (B)-(I). (C)-(IV). (D)-(II)
(2) (A)-(ID), (B)-(ILL), (C)-(@), (D)-(IV)
(3) (A)-(IV). (B)-(ID). (C)-(IIT). (D)«D)
(4) (A)-(I), B-(IV), (C)-(ID). (D})-(111)
HH1-1 % |y H=-10 %1 Taer i
A AT
ST ST ST
(A)  UE-g @ fafoe i afFndi 4 om @3 ae
T HIfE
(B) F-Ei (D 25 Fretrom afd ure 8 sifess s e
(C) g 1) -fafsre @l 3 e Fa-r s
D) F-HH aAV) 1 e afa e A s smafin e

41+ feg 1o faeredl 9 9wl 397 1 =199 e

(1)
2
(3)
€5

(A)-(III). (B)-(I). (C)-(AV). (D)-(ID
(A)-(IT). (B)-(ITD). (C)-(T), (D)-(IV)
(A)-(IV), (B)-(IT). (C)-(I1T), (D)-(D)
(A)TI), (B)«(IV), (C)-(ID. (D)-(III)

[Question ID = 1355][Question Description = 140_00_General_15_0CT22_Q40]

A w N =

1 [Option ID = 5417]
2 [Option ID = 5418]
3 [Option ID = 5419]
4 [Option ID = 5420]



36) Modern Universities were established in India in 1857 at

(1) Caleutta. Madras and Hydrabad
(2) Calcutta. Madras and Bombay
(3) Calcutta. Bombay and Hydrabad

(4) Caleutta. Banaras and Hydrabad

wRA | @ 1857 6 s favafaareri $i v = 72 ol

(1) e, HgHE 3N S
(2) e, gEH 3 A

(3) e, 4 ST AETET
(4)  FerRe, SH0H 3T AR

[Question ID = 1356][Question Description = 141_00_General_15_0CT22_Q41]
1. 1 [Option ID = 5421]
2. 2 [Option ID = 5422]
3. 3 [Option ID = 5423]
4. 4 [Option ID = 5424]

37)
Which among the following is not related to the ranking of World Universities?

(1) Times higher ranking (2) @S ranking
(3) Madrid ranking (4) Shanghal ranking

et 4 & 14 fava = fvatrnea 1 15 4 dafua 448 87

(1) 2= e @) w4 uaifam
(3  afzeifam (4) v

[Question ID = 1357][Question Description = 142_00_General_15_0CT22_Q42]
1. 1 [Option ID = 5425]
2. 2 [Option ID = 5426]
3. 3 [Option ID = 5427]
4. 4 [Option ID = 5428]



38)  Which among the following are related to the gquality of research articles?
(A) number of research articles
(B) impact factor
(@ citation index
(D)  frequency of their publication
(E) h-iridex

Choose the correct answer from the options given below ;
(1) (A). (B). (C) Only

(2) (B). (C). (D). (E) only

(3) (B). (C). (E) only

4 (A). (B). (C). (E) only

fr=fefiaa § | %13 | sy orgi &1 E Gefam 27
(A) 9014 el 1 Fea

(B) WHE-FEH

(C)  FZ-Ha%%

(D) 39 Tahrer &) S

(B) Ua-HaEis

414 fou v fawedl 1 B w0 3w ) = Fifw
(1) & (A), (B). (C)

(2)  @ad (B). (C), (D). (E)

(3)  *EE (B). (O). ()

(4 w49 (4). B). (C). (E)

[Question ID = 1358][Question Description = 143_00_General_15_0CT22_Q43]
1. 1 [Option ID = 5429]
2. 2 [Option ID = 5430]
3. 3 [Option ID = 5431]
4. 4 [Option ID = 5432]



39) Match List T with List IT

ListI List I
Values Meaning
(A) Integrity (I) Having a good atfitude
(B} Team work (I} Dedication and hardwork
(C) Discipline (IIT) Do the rght thing
(D) Positivity (IV) Helping and cooperating with each
other

Choose the correct answer from the options given below :
(1) (A)-(IID), (B)-(IV), (C)-(D), (D)-(I)
(2) (A)-(III), (B)-(II), (C)-@V), (D)-{I)

(3) (A)-(IV). (B)-(D). (C)-(LIL). (D)-(1I)
(4) (AIID. (B)-(IV), (C)-I). (D)-(IL)

11 % =19 g0 a1 foetrm it -

HeH1-T HH-1T
He HY
(A  Ha-fm @M sl wfugfa v
(B) #HYE FH (@D Hqu H 5FF ghey
(C) HgImEA (IID) & & FE
(D)  HHHTHFA] (IV) TOF HERED 30 Jadli s

dr4 feu mu faaedl 4 8 981 397 &1 F93 $ifaw .

(1) (A)III), (B)-IV), (C)-dD). (D)D)

(2)  (A)ID. (B)-ID. (O)-(IV), (D)-(D

(3) (A)-(IV), (B)-(I). (C)-(III), (D)-(1I)

(4) (A)-(ATI). (B)-(IV). (C)-(I). (D)-(1L)
[Question ID = 1359][Question Description = 144_00_General_15_0CT22_Q44]
1 [Option ID = 5433]
2 [Option ID = 5434]

3 [Option ID = 5435]
4 [Option ID = 5436]

A wWN =



40) Which of the following were important aspects of Ninth Five Year plans (1997-2002)
pertaining to higher education in India.

(A) TImprovement in guality and systemic efficiency

(B) Conferring autonomous status by UGC on selected colleges
(C) Encouraging research in higher education

(D) Vocationalisation of higher education

(E) Improvement of quality and relevnace of technical education
Choose the most appropriate answer from the options given below :
(1) (B). (C), (D), and (E) only

2 (A). (B). (D). and (E) only

(3) (A)and (E) only

(4) (C)and (D) only

A 4 Al daedia 451 (1997-2002) 4 7= foian 4 wrafa geenpi vee fefofas 0 4 =9 4 27

(A) TEA 1 el 1 e 8 qun

®B) .. gm g gEfeerE @ e i T gEH s
(©) 7= foren 4 ony =) drEETEE A

(D) = e & sEEETaRE

(E) VT 1 HAW 31 dshAeh] o1 @l qrEiTeRd

e fqu o fasedl 0§ HEl I H =95 difa

(1) %&a (B). (C). (D) 31 (E)

(2) 4 (A), (B). (D) 31 (E)

(3) ael (A) 31 (E)

(4) %4 (C) 31 (D)

[Question ID = 1360][Question Description = 145_00_General_15_0CT22_Q45]
1. 1 [Option ID = 5437]
2. 2 [Option ID = 5438]
3. 3 [Option ID = 5439]
4. 4 [Option ID = 5440]

Topic:- GP_UGCNET_110CT_SH1_51_C



1)

Read the passage and answer gquestions from 46 to 50,

Reflected evaluation demands reasoning regarding relative importance. not just counting.
This is an exerclse in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of serutiny and eritical
assessment 1z not just a demand for zelf-cenired evaluation by secluded individuals, but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discussion and deliberation can lead
to a better understanding of the role. reach and significane of particular functiomings and
their combinations: To illustrate. public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that 1s more geared to rocognising men's deprivation than
women's. These iraditional antecedents of gender ineguality in well-established. male-
dominated societies demand not only individual concern but also Informative public
discussion and often enough. agitation. The connection between public reazoning and the
choice and weighting of capabilities in social assessment is important to emphasize, It also
points to the absurdity of the argument that 1s sometimes presented. which elaims that the
capability approach would be usable and operational. only if 1t comes with a set of given
weights on the distinet functionings in some fixed list of relevant capabilities.

T I 9% HE U 46 § 50 F IW 2

feprml yeeiaha 4 et o) §) afes dnifes gam 8 weblag ad ) g Fd 2 gz v o w2
o 79 wem =Fa T8d # | geaTaAl ol 959 i favasHEa #1 fama @ 6 oo s 3R stias e
91 % fofu 78 3w 9= § S a9 F Ovifdd ge & Afifeaq s Zom Sedan s s
e il AEvIHAl 4 hdel UE U 91 9 T8 slfadl g W -4iga geared £ o @ afes gz w4
Tl 3 TAEIE R dch | ATHEEEA %1 HE i 2 | ¥le g gedtea f=-frs s v e
L R 01 A e = e 1 2 i = 0 e e 1 e B e (R PR R R e
foren i 3l 39eh w1 61 gftekl, Y84 iR ugm ol s Hug 99 #) Sl 2| gEm & fen ued g
fem-smenfea fawamisn 61 @k =9 3 2@ % a9 § F9 U aaads 39 wE 0 Jare fef 2
Foet weet wafe wfspfa = fuerfl < | sgeon 8§ 39 Frem o Ferenfre arfarfes gfessn 8 sem g2l
&l e wfeafem 2 o1 wfzas F At 8 ol s w0 | @ ol 2 3w w5 g
ugfa # i e 22 & wadga afyfern 2 gl @nae o2 w0 2 fF gz gfrensi 6 qemn O ol &
A1 w1 AlYEH T UEH Al 2| HEIa, qRIEEE HETE 8 T e % 4 IR gEgd A
el dafaren 901 &) dfeeh A0S 34 =] &1 0 30 U= S48 & J 90 %56 2 )

o A 8 949 ddh H1 GUAI & =984 J UE 6w o WAy T odd oA HEvEE 2 | 98 -
FHR Wd 38 dch ol Fedwa #1 i qiea @ 2 e 2 g fe a2 f anamges gfewm adl
sawd 3 fraerE R W 9w H4g aumsn i fel e el O o we e fafee @t @ fae o
UH1 & HTY T 2 |

Reflective evaluation takes into account :

(1) Subjective perception of public issues

(2) Mere counting of societal developments

(3) General understanding and public reasoning

(4) Extensive arguments on inequalities



(1
(2)
(3)
(4)

S WHE = T
aaTA-Hw | R = waEs o
HTH HYZ SR S T

SR 3w g e

[Question ID = 1361][Question Description = 146_00_General_15_0CT22_Q46]
1. 1 [Option ID = 5441]
2. 2 [Option ID = 5442]
3. 3 [Option ID = 5443]
4. 4 [Option ID = 5444]

2)

Read the passage and answer questions from 46 to 50.

HReflected evaluation demands reasoning regarding relative importance. not just counting.
This is an exercise in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of scrutiny and eritical
assessment 18 not Just a demand for self-centred evaluation by secluded individuals, but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social

evaluations may be starved of useful information and good arguments if they are entirely

based on separated and sequestered cogitation. Public discussion and deliberation can lead
to a better understanding of the role. reach and significane of particular functionings and
their combinations: To illustrate. public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that 1= more geared to rocognising men's deprivation than
women's. These traditional antecedents of gender ineguality in well-established. male-
dominated societies demand not only individual concern but also informative public
discussion and often enough. agitation. The connection between public reasoning and the

choice and weighting of capabilities in social assessment is important to emphasize. It also

points to the absurdity of the argument that i1s sometimes presented. which claims that the

capability approach would be usable and operational. only if it comes with a set of given

weights on the distinct functionings in some fixed list of relevant capabilities.

T I 9% AT U 46 H 50 F IW 2

foramrl gearerA A Faa e $ afes Arfas gama | Adfaa a9 ) owin w2 ) 92 v v owE 2
ot #m Haa =04 T8 2 | gediadl 61 TEE 3R favasdEa &1 faea @0 @ oo i o= sifs
a9 & foft 30 3 w9g 4 94 deh & Guiidd Seed &l wifed s 2om) Hdian afln sdfiarere
A ] ATEITIHRA 4 el U H G $ T8 Al g A —higa gediEa F1 5 8 afok a8 4
Tl 3 UREie 99 a6 ArgEEa 6 = i 2 | gfg wnaifas gearea im-fim sl v e
Rl R 115 O e s e £ e e = & 2 e e 2 W e e e OB B
faen 31l 331 39 HFTeH1 ) g, yad o ugea 6l 98d Jug 9e1 d@ Aad 2| g 6 fon ueA o
fe-smenfra famaasi < @ 29 4 29 & a9 0 5 ) g @) T9eE 0 0 wEEa e 2
Foes wmet ouTe wiield T8 merdt o | sz 8 34 Fea SR et aiais giemsn 8 sem e
&l vgeEm wfeafem 2 50 wfzas F At g onlds s o i @& ol 2 s w5 g
ugfa B i em 727 i e affem 2 fad s g2 w2 fF e ofwensi 6 g 1wl &
1w Ay T TEH FA 2| HEe, EEE HEE 0 6 SHEEE F 4 TR gEdd |
e dafader Tom &) 9fca Fde 99 9= &1 91 3 U e 6 d gm oEE F )

gt WEed O 99 @6 {17 aUAsl & 994 9 90§ || & TAY W ad o A9eE 2| g8 aafi-
FUR Wid 39 Ach ol dwa #1 i giaa s 2 e 2z g e a2 e doangas gfesm ad
sadAr 3 ETeRE R 9E 97 H4g duman & e e g 8 ouw e are fafere sl 6 fge o
URT & H1Y ST 7



A robust and eritical evaluation will result in :
(D Interactive public discussions (2) Selfcentred assezssment

(3) Availability of useful information (4) BSequestered cogitation

HIT A AT geaiEA |

(1) arrorfis 549 == (2) S -hizd A
(3)  Fuwfl AHEE 3T (4) uEFE fFe

[Question ID = 1362][Question Description = 147_00_General_15_0CT22_Q47]
1. 1 [Option ID = 5445]
2. 2 [Option ID = 5446]
3. 3 [Option ID = 5447]
4. 4 [Option ID = 5448]

3) Read the passage and answer questions from 46 to 50.

Reflected evaluation demands reasoming regarding relative importance. not just counting.
This is an exercise in which we are constantly engaged. To that general understanding has to
be added the possible 1mportance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of scrutiny and eritical
assessment is not just a demand for zelf-centred evaluation by secluded individuals. but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discus=ion and deliberation can lead
to a hetter understanding of the role. reach and significane of particular functionings and
their combinations. To illustrate, public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that is more geared to rocognising men's deprivation than
women's. These iraditional antecedents of zender imeguality in well-established. male-
dominated societies demand not only individual concern but also informative public
discussion and often enough. agitation. The connection between public reasoning and the
choice and weighting of eapabilities in social assessment is important to emphasize. It also
points to the absurdity of the argument that i1s sometimes presented. which claims that the
capability approach would be usable and operational. only if 1t comes with a set of ziven
welghts on the distinet functionings 1n some fixed list of relevant capabilities:



T ] G 3T YS 46 H 50 FH IF 4 -

Tl yegrea 9 Fae E F gfes Jiees gee | welan ad ) am g 2 ) 92 ue v o 2
forad 20 wem =45 T8d 2 | grdiaAl 1 95d iR fqvasdEd #1 faga @ % o i o sfas dos
g % feu 3y sm wum 0 99 a6 % Awifad weed &1 wiifed son 2| e s e
i il AEvIEHAl 4 hdel U 4 9/ 9 18 sfadd] g Wi -higa gered £ o @ afes gz 94
Tl 3 TR R fdeh | ATHEEE A w1 HF6 i 2 | gle gt gt i=-fas s v e
gt quid: et #L A 2 2l saedl i = Al @ s 2 o T e e o fasm
frm sl 3R 29 garal &) gfiesr, 989 o e i 989 g9 9 8 gedl B ) sgem F fon upd 4
et - svariva famganstl < s 9= A 26 o 991 8 &9 Wl SaEEas & IarE e 8 Here fael 2
foe waet wyte wfrnfa 34 fasrdt o |z 4 39 fem s ety orfenfe gfrmsi # sem g
=i Faeae) wigtem & o ufEasi & dmrtes d i sE w1 e @ gl 2 s wmies ge
ugld | i Hew #eq ol wadaen a@fwferd 2 e sae o2 v 2 gz gfeensi & gen 3 e &
a1 H1 AUH T HER A 7 | HEAE, [FEEE HEE 8 o e & 4 9 qEEe |
et dafere e &1 afesh smwe 39 == §1 dl 3w SAeEd 6 d g e 2 )

s A 4 949 7 311 GUAIS & =984 J YA & Wi & WAy T dd oA AT 2 | g @dl-
HUR YA 34 b | e #1 W yfea w2 e gz gmn fen w2 T amanges gfewm ad
w30 s 2 9m a8 Hag audsn Fi e e g O ae e T fafie sl @ e o
UH1 & HTY AT 2 |

The pubhc discussion on gender inequalities makes us support :
(1) Time honoured family roles

(2) Restrictive social roles

(3) Deprivation of men in society

(4) Reforms 1n the present social value system

o wEgEAs w FA 99 § 20 fewe wuda & g 27

(1)  Terepenfaa arfrenfes gfgesnd

(2)  wu=EmE drartes syfremd

(8)  wHTH U EEl A=

(4 =iy gufas geu vglh 8 g

[Question ID = 1363][Question Description = 148_00_General_15_0CT22_Q48]
1. 1 [Option ID = 5449]
2. 2 [Option ID = 5450]
3. 3 [Option ID = 5451]
4. 4 [Option ID = 5452]



4)

Read the passage and answer gquestions from 46 to 50,

Reflected evaluation demands reasoning regarding relative importance. not just counting.
This is an exerclse in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of serutiny and eritical
assessment 1z not just a demand for zelf-cenired evaluation by secluded individuals, but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discussion and deliberation can lead
to a better understanding of the role. reach and significane of particular functiomings and
their combinations: To illustrate. public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that 1s more geared to rocognising men's deprivation than
women's. These iraditional antecedents of gender ineguality in well-established. male-
dominated societies demand not only individual concern but also Informative public
discussion and often enough. agitation. The connection between public reazoning and the
choice and weighting of capabilities in social assessment is important to emphasize, It also
points to the absurdity of the argument that 1s sometimes presented. which elaims that the
capability approach would be usable and operational. only if 1t comes with a set of given
weights on the distinet functionings in some fixed list of relevant capabilities.

T I 9% HE U 46 § 50 F IW 2

feprml yeeiaha 4 et o) §) afes dnifes gam 8 weblag ad ) g Fd 2 gz v o w2
o 79 wem =Fa T8d # | geaTaAl ol 959 i favasHEa #1 fama @ 6 oo s 3R stias e
91 % fofu 78 3w 9= § S a9 F Ovifdd ge & Afifeaq s Zom Sedan s s
e il AEvIHAl 4 hdel UE U 91 9 T8 slfadl g W -4iga geared £ o @ afes gz w4
Tl 3 TAEIE R dch | ATHEEEA %1 HE i 2 | ¥le g gedtea f=-frs s v e
L R 01 A e = e 1 2 i = 0 e e 1 e B e (R PR R R e
foremn i 3 39k w1 1 9ok, Y84 iR uge ol s Huy 92 #) Sl A | gEm & fen ued g
fem-smenfoa fawamsn 61 @k =41 3 2@ % a9 § F9 U aaadsl 1 39 wE 0 Jare fef 2
Foed et wafe wftepfa = fuerf) < | sgron 8§ 39 P i Fvmenfe aifarfes yfessn 8 sem g2
&l 3arE wfeafem 2 o1 wfzas & At 8 ol s w0 difn @ ol 2 i @ s g
ugfa # i e 22 & wadga afyfern 2 frhl @ae o2 w0 2 fF gz gfrensi 6 qeen O o &
91 w1 Al T UEH w2 | HEa, qEeEeE HETH T SEEEE % 4 IR gEgd A
e d3fde 91 &) dfeh UE 39 =9=9] &1 0 30 9" S1EeE & d 5 % 2 )

amifses HeE O 99 dd H1 auAsl & =999 9 9E F " qEy W ad o a2 | gg wdfi-
FHR Wd 38 Ak ol Fedwa 1 i qiaa @ 2 e 2 g fem a2 e anamges 2o adl
sawd 3 fraerE R 9 9w Hhg aumsn i fe e el d o we e fafere st @6 fae o
UF1 & HTY AT 2 |

Gender inequality in traditional societies demande
(A} Individual discourses only

(B) Public discussions

(C) Limitation on opportunities

(D)  Agitation based on public resoning

Choosze the correct option :
(1) (A) and (B) only (2} (B) and (C) only
(3 (B) and (D)) only {4y (C)and D) only



Td w4 fer stmEe Feeh oin e 27

(A)  Fa =fFE ==

B ==l

(C)  3raFgd W dim

(D)  SH A | AT HEEA

wel o =41

(1) e (A) 30 (B) (2) 4 (B) # (C)
(3)  Fae (B) #n (D) @) #Hd (C) i (D)

[Question ID = 1364][Question Description = 149_00_General_15_0CT22_Q49]
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4. 4 [Option ID = 5456]

5)

Read the passage and answer questions from 46 to 50.

Reflected evaluation demands reasoming regarding relative importance. not just counting.
This is an exercise in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of serutiny and eritical
assessment 18 not Jjust a demand for zelf-cenired evaluation by secluded individuals. but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discussion and deliberation can lead
to a better understanding of the role. reach and significane of particular functionings and
their combinations: To illustrate. public discussion of gender-based inequalities in India has
helped to bring out. in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fizxed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that 1z more geared to rocognising men's deprivation than
women's. These traditional antecedents of gender ineguality in well-established. male-
dominated societies demand not only individual concern but also informative public
discussion and often enough., agitation. The connection between public reasoning and the
choice and weighting of capabilities in social assessment is important to emphasize. It also
points to the absurdity of the argument that 1= sometimes presented. which claims that the
capability approach would be usable and operational, only if 1t comes with a set of given
weights on the distinct functionings in some fixed list of relevant capabilities.



T I GG HH T 46 H 50 N IW Q-

ferarl yearaa 3 Fae e 6 afes anifes gee 3 @efan b ) oaf s 2 22 v v e 2
ol 70 wed =4 784 2| gegieAl ) Ee 3 TavasEa #) fasa @ & o s 35 afas de
I % T g wm g 0 9 aF % awifad e i uftifea s 2o g sin adfieers
i il AEvIEHAl 4 hdel U 4 9/ 9 18 sfadd] g Wi -higa gered £ o @ afes gz 94
T SR IR 99 A ] ATHERET il gah i 2 | afe anifas gemed e -Tee i v e
R\ B i B = 2 B e B e e 0 o e o e B L R SRR R
foranan 3 9 w1 gfvs, 989 i gEes & dEar aum de B aedl B | JgrEmn & o uwe 4
et - svariva famganstl < s 9= A 26 o 991 8 &9 Wl SaEEas & IarE e 8 Here fael 2
foe waet wyte wfrnfa 34 fasrdt o |z 4 39 fem s ety orfenfe gfrmsi # sem g
i Taege wferfed & o1 afEasi & gt 9 snfds s o difua @ afl # s am i ge
uzfa | i sem 229 1 w@agm afyfem 2 fogh snee g2 ©f 2 f5 gz gfzensi 6 qen O &
a9 &1 i g=ra wem #dl # | gerf, e w8 oomEee & 3 gEien gEen A
et daferren T <1 afee e 59 == 61 A s g e o g e #

qrrfae saed 8 99 dd 317 sUAIs] & 994 d 9E & di9 & JEY W ad o A9 2| g8 aafi-
HUR YA 34 b | e #1 W yfea w2 e gz gmn fen w2 T amanges gfewm ad
w30 s 2 9m a8 Hag audsn Fi e e g O ae e T fafie sl @ e o
UH1 & HTY AT 2 |

The major take-away from the passage is:

(1) Promotion of a capability system

(2) Separate soclal assessment of men and women

(3) Recognition of the traditional value system

(4) Absurdity of a capability approach with a fixed list of weights

erT &1 g e 2

(1) Uk gl 73 1 SreETE

(@ g 3w afeens @ fue-fem amfas srees

(3)  THEM §= TG He

(4) Wl & frga g 9w smanger gfedm 6 e
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